stainlesssteel_032025

HEX BOLTS 18-8SS a. 1-3
CARRIAGE BOLTS 18-8SS b. 1-2
HEX LAG BOLTS 18-855 c. 1-2
HEX MACHINE SCREW NUTS 18-8SS d 1
FINISHED HEX NUTS 18-8SS e. 1-2
HEX NUTS COUPLING NUTS f. 1
NYLON INSERT LOCKNUTS 18-8SS g 1
NYLON INSERT LOCKNUTS FINE 18-8SS h. 1
ACORN NUTS 18-85S [
WING NUTS 18-8SS o1
FLAT WASHERS 18-8SS5 k. 1
FLAT WASHERS AN 960 18-8SS 1
FENDER WASHERS 18-8SS m. 1
SPLIT LOCK WASHERS 18-85S n 1
COUNTERSUNK FINISHING WASHER 18-8SS o 1
PAN PHILIPS SHEET METAL SCREWS 18-85S p. 1-2
IND HEX HD SHEET METAL SCREWS 18-85S g 1
FLAT HD PHILIPS SHEET METAL SCREWS 18-85S r 1-2

Grattan

FASTENING PRODUCTS



Stainless Steel

OVAL HD PHILIPS SHEET METAL SCREWS 18-855 s. 1-2
OVAL PHILLIPS HEAD MACHINE SCREWS 18-85S t 1-2
FLAT PHILLIPS MACHINE SCREWS 18-8SS u 1-3
PAN PHILLIPS HEAD MACHINE SCREWS v. 1-3
SOCKET HEAD CAP SCREWS 18-85S w. 1
BUTTON HEAD SOCKET CAP SCREWS 18-8SS x. 1-2
FLAT HEAD SOCKET CAPS 18-85S y. 1-2
COTTER PINS 18-8SS z. 1
U-BOLTS STAINLESS aa. 1
EYE BOLTS W/NUTS 18-8SS ab. 1
EYE LAG BOLTS 18-8SS ac. 1
S-HOOKS 18-8SS ad. 1

LAG CEILING HOOK LIGHT OPEN 18-8SS5 ae. 1



STAINLESS STEEL

HEX BOLTS 18-8SS

Iy

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
190001 400002 HEXBOLTS 18-8SS 1/4-20 X 1/2 100 PT 400
190002 400004 HEXBOLTS 18-8SS 1/4-20 X 5/8 100 PT 400
190003 400006 HEX BOLTS 18-8SS 1/4-20 X 3/4 100 PT 400
190005 400010 HEXBOLTS 18-8SS 1/4-20 X 1 100 PT 400
190006 400012 HEXBOLTS 18-8SS 1/4-20 X 1 1/4 100 PT 400
190007 400014 HEXBOLTS 18-8SS 1/4-20 X 1 1/2 100 PT 400
190008 400016 HEX BOLTS 18-8SS 1/4-20 X 1 3/4 100 PT 400
190009 400018 HEXBOLTS 18-8SS 1/4-20 X 2 100 PT 400
190056 400022 HEXBOLTS 18-8SS 1/4-20 X2 1/2 100 PT 400
190057 400026 ~ HEX BOLTS 18-8SS 1/4-20 X 3 100 PT 400
190300 400027 HEXBOLTS 18-8SS 1/4-20 X 3 1/4 100 PT 400
190301 400028 HEXBOLTS 18-8SS 1/4-20 X 3 1/2 100 PT 400
190302 400030 HEXBOLTS 18-8SS 1/4-20 X 4 100 PT 400
190303 400031 HEXBOLTS 18-8SS 1/4-20 X 4 1/2 100 PT 400
190304 400032 HEXBOLTS 18-8SS 1/4-20 X 5 100 PT 400
190306 400034 HEXBOLTS 18-8SS 1/4-20 X 6 100 PT 400
190010 400070 HEXBOLTS 18-8SS 5/16-18 X 1/2 100 PT 400
190011 400072 HEXBOLTS 18-8SS 5/16-18 X 5/8 100 PT 400
190012 400074 HEXBOLTS 18-8SS 5/16-18 X 3/4 100 PT 400
190014 400078 HEXBOLTS 18-8SS 5/16-18 X 1 100 PT 400
190015 400080 HEXBOLTS 18-8SS 5/16-18 X 1 1/4 100 PT 400
190016 400082 HEXBOLTS 18-8SS 5/16-18 X 1 1/2 100 PT 400
190018 400086 HEX BOLTS 18-8SS 5/16-18 X 2 100 PT 400
190020 400090 HEXBOLTS 18-8SS 5/16-18 X 2 1/2 100 PT 400
190308 400096 HEX BOLTS 18-8SS 5/16-18 X 3 1/2 50 PT 400
190310 400098 HEXBOLTS 18-8SS 5/16-18 X 4 50 PT 400
190311 400099 HEXBOLTS 18-8SS 5/16-18 X 4 1/2 50 PT 400
190312 400101  HEXBOLTS 18-8SS 5/16-18 X 5 50 PT 400
190313 400103 HEX BOLTS 18-8SS 5/16-18 X 5 1/2 50 PT 400
190314 400105 HEXBOLTS 18-8SS 5/16-18 X 6 50 PT 400
190058 400094 HEXBOLTS 18-8SS 5/16-18 X 3 100 PT 400
190021 400130 HEXBOLTS 18-8SS 3/8-16 X 1/2 100 PT 400
190091 400132 HEXBOLTS 18-8SS 3/8-16 X 5/8 100 PT 400
190023 400134 HEXBOLTS 18-8SS 3/8-16 X 3/4 100 PT 400
190025 400138 HEXBOLTS 18-8SS 3/8-16 X 1 100 PT 400
190026 400140 HEXBOLTS 18-8SS 3/8-16 X 1 1/4 100 PT 400

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

|
L
L
l—
)
)
@
L
-
=
s
)




|
L
L
l—
0
0
@
L
-
=
s
0

STAINLESS STEEL

HEX BOLTS 18-8SS

Iy

PART#  paRT# DESCRPTION SizE Q™ GODE  GODE
190027 400142 HEXBOLTS 18-8SS 3/8-16 X 1 1/2 100 PT 400
190029 400146 HEX BOLTS 18-8SS 3/8-16 X 2 100 PT 400
190092 400148 HEXBOLTS 18-8SS 3/8-16 X 2 1/4 50 PT 400
190031 400150 HEX BOLTS 18-8SS 3/8-16 X 2 1/2 100 PT 400
190032 400154 HEX BOLTS 18-8SS 3/8-16 X 3 50 PT 400
190033 400158 HEXBOLTS 18-8SS 3/8-16 X 3 1/2 50 PT 400
190034 400162 HEXBOLTS 18-8SS 3/8-16 X 4 25 PT 400
190315 400164 HEX BOLTS 18-8SS 3/8-16 X 4 1/2 50 PT 400
190059 400166 ~ HEX BOLTS 18-8SS 3/8-16 X 5 25 PT 400
190316 400168 HEX BOLTS 18-8SS 3/8-16 X 5 1/2 50 PT 400
190317 400169 HEXBOLTS 18-8SS 3/8-16 X 6 50 PT 400
190081 400214  HEX BOLTS 18-8SS 7/16-14 X 3/4 25 PT 400
190082 400218  HEX BOLTS 18-8SS 7/16-14 X 1 25 PT 400
190083 400220 HEXBOLTS 18-8SS 7/16-14 X 1 1/4 25 PT 400
190084 400222 HEXBOLTS 18-8SS 7/16-14 X 1 1/2 25 PT 400
190085 400226 HEX BOLTS 18-8SS 7/16-14 X 2 25 PT 400
190086 400230 HEXBOLTS 18-8SS 7/16-14 X2 1/2 25 PT 400
190087 400234 HEXBOLTS 18-8SS 7/16-14 X 3 25 PT 400
190088 400238 HEX BOLTS 18-8SS 7/16-14 X 3 1/2 25 PT 400
190089 400242 HEXBOLTS 18-8SS 7/16-14 X 4 25 PT 400
190090 400246 HEX BOLTS 18-8SS 7/16-14 X 5 25 PT 400
190035 400290 HEX BOLTS 18-8SS 1/2-13 X 3/4 25 PT 400
190036 400294 HEX BOLTS 18-8SS 1/2-13 X1 25 PT 400
190037 400296 HEX BOLTS 18-8SS 1/2-13 X1 1/4 25 PT 400
190038 400298 HEX BOLTS 18-8SS 1/2-13 X1 1/2 25 PT 400
190040 400302 HEXBOLTS 18-8SS 1/2-13 X2 25 PT 400
190042 400306 HEX BOLTS 18-8SS 1/2-13 X2 1/2 25 PT 400
190043 400310 HEXBOLTS 18-8SS 1/2-13 X 3 25 PT 400
190044 400314 HEX BOLTS 18-8SS 1/2-13 X3 1/2 25 PT 400
190045 400318  HEX BOLTS 18-8SS 1/2-13 X 4 25 PT 400
190046 400320 HEXBOLTS 18-8SS 1/2-13 X4 1/2 25 PT 400
190062 400322 HEXBOLTS 18-8SS 1/2-13 X5 25 PT 400
190318 400324 HEXBOLTS 18-8SS 1/2-13 X5 1/2 15 PT 400
190064 400326 HEX BOLTS 18-8SS 1/2-13 X6 25 PT 400
190319 400328 HEX BOLTS 18-8SS 1/2-13 X6 1/2 10 PT 400
190320 400331 HEX BOLTS 18-8SS 1/2-13 X7 10 PT 400

“Your Complete Fastener Source”

grattanfasteners.com



STAINLESS STEEL

HEX BOLTS 18-8SS

Iy

PART# . paRT# DESCRIPTION SeE Q™ GODE  GODE
190321 400333 HEXBOLTS 18-8SS 1/2-13 X7 1/2 10 PT 400
190322 400335 HEXBOLTS 18-8SS 1/2-13 X 8 10 PT 400
190065 400424 HEXBOLTS 18-8SS 5/8-11 X1 25 PT 400
190066 400426 HEX BOLTS 18-8SS 5/8-11 X1 1/4 25 PT 400
190047 400428 HEX BOLTS 18-8SS 5/8-11 X1 1/2 25 PT 400
190048 400432 HEXBOLTS 18-8SS 5/8-11 X 2 25 PT 400
190049 400436 HEX BOLTS 18-8SS 5/8-11 X2 1/2 25 PT 400
190050 400440 HEXBOLTS 18-8SS 5/8-11 X 3 25 PT 400
190067 400444 HEX BOLTS 18-8SS 5/8-11 X3 1/2 25 PT 400
190051 400446  HEX BOLTS 18-8SS 5/8-11 X 4 25 PT 400
190068 400448 HEXBOLTS 18-8SS 5/8-11 X4 1/2 25 PT 400
190069 400450 HEX BOLTS 18-8SS 5/8-11 X5 25 PT 400
190323 400452 HEX BOLTS 18-8SS 5/8-11 X5 1/2 25 PT 400
190071 400454 HEX BOLTS 18-8SS 5/8-11 X6 25 PT 400
190324 400456 HEXBOLTS 18-8SS 5/8-11 X 6 1/2 10 PT 400
190325 400458 HEXBOLTS 18-8SS 5/8-11 X 7 10 PT 400
190326 400461 HEX BOLTS 18-8SS 5/8-11 X7 1/2 10 PT 400
190327 400463 HEX BOLTS 18-8SS 5/8-11 X 8 10 PT 400
190072 400504 HEXBOLTS 18-8SS 3/4-10 X 1 1/2 25 PT 400
190052 400508 HEXBOLTS 18-8SS 3/4-10 X 2 25 PT 400
190053 400512 HEX BOLTS 18-8SS 3/4-10 X 2 1/2 25 PT 400
190054 400516 HEX BOLTS 18-8SS 3/4-10 X 3 25 PT 400
190073 400520 HEX BOLTS 18-8SS 3/4-10 X 3 1/2 25 PT 400
190055 400524 HEXBOLTS 18-8SS 3/4-10 X 4 25 PT 400
190074 400526 HEX BOLTS 18-8SS 3/4-10 X 4 1/2 25 PT 400
190075 400528 HEXBOLTS 18-8SS 3/4-10 X 5 25 PT 400
190340 400530 HEXBOLTS 18-8SS 3/4-10 X 5 1/2 10 PT 400
190077 400532 HEXBOLTS 18-8SS 3/4-10 X 6 25 PT 400
190341 400534 HEX BOLTS 18-8SS 3/4-10 X 6 1/2 10 PT 400
190342 400536 HEX BOLTS 18-8SS 3/4-10 X7 10 PT 400
190343 400538 HEX BOLTS 18-8SS 3/4-10 X 7 1/2 10 PT 400
190344 400541 HEX BOLTS 18-8SS 3/4-10X 8 10 PT 400
190346 400543 HEXBOLTS 18-8SS 3/4-10 X 10 10 PT 400
190348 400547 HEX BOLTS 18-8SS 3/4-10 X 11 5 PT 400
190350 400551 HEX BOLTS 18-8SS 3/4-10 X 12 5 PT 400

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

|
L
L
l—
)
)
@
L
-
=
s
)




STAINLESS STEEL

CARRIAGE BOLTS 18-85S

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
190100 781054  CARRIAGE BOLTS 18-8SS 1/4-20 X 1/2 100 PT 781
190101 781066  CARRIAGE BOLTS 18-8SS 1/4-20 X 3/4 100 PT 781
190102 781072  CARRIAGE BOLTS 18-8SS 1/4-20 X 1 100 PT 781
190103 781078  CARRIAGE BOLTS 18-8SS 1/4-20 X 1 1/4 100 PT 781
190104 781084  CARRIAGE BOLTS 18-8SS 1/4-20 X 1 1/2 100 PT 781
190105 781096  CARRIAGE BOLTS 18-8SS 1/4-20 X 2 100 PT 781
190106 781108  CARRIAGE BOLTS 18-8SS 1/4-20 X 2 1/2 100 PT 781
190107 781120  CARRIAGE BOLTS 18-8SS 1/4-20 X 3 100 PT 781
190140 781132  CARRIAGE BOLTS 18-8SS 1/4-20 X 3 1/2 100 PT 781
190141 781144  CARRIAGE BOLTS 18-8SS 1/4-20 X 4 100 PT 781
190142 781150  CARRIAGE BOLTS 18-8SS 1/4-20 X 4 1/2 100 PT 781
190144 781156  CARRIAGE BOLTS 18-8SS 1/4-20 X 5 100 PT 781
190146 781168  CARRIAGE BOLTS 18-8SS 1/4-20 X 6 100 PT 781
190108 781174  CARRIAGE BOLTS 18-8SS 5/16-18 X 3/4 100 PT 781
190109 781180  CARRIAGE BOLTS 18-8SS 5/16-18 X 1 100 PT 781
190110 781186  CARRIAGE BOLTS 18-8SS 5/16-18 X 1 1/4 100 PT 781
190111 781192  CARRIAGE BOLTS 18-8SS 5/16-18 X 1 1/2 100 PT 781
190112 781204  CARRIAGE BOLTS 18-8SS 5/16-18 X 2 100 PT 781
190113 781216  CARRIAGE BOLTS 18-8SS 5/16-18 X 2 1/2 100 PT 781
190114 781228 CARRIAGE BOLTS 18-8SS 5/16-18 X 3 100 PT 781
190150 781240 CARRIAGE BOLTS 18-8SS 5/16-18 X 3 1/2 50 PT 781
190151 781252  CARRIAGE BOLTS 18-8SS 5/16-18 X 4 50 PT 781
190152 781258 CARRIAGE BOLTS 18-8SS 5/16-18 X 4 1/2 50 PT 781
190153 781264  CARRIAGE BOLTS 18-8SS 5/16-18 X 5 50 PT 781
190155 781276  CARRIAGE BOLTS 18-8SS 5/16-18 X 6 50 PT 781
190160 781280 CARRIAGE BOLTS 18-8SS 3/8-16 X 3/4 100 PT 781
190117 781282  CARRIAGE BOLTS 18-8SS 3/8-16 X 1 100 PT 781
190118 781288 CARRIAGE BOLTS 18-8SS 3/8-16 X 1 1/4 100 PT 781
190119 781294  CARRIAGE BOLTS 18-8SS 3/8-16 X 1 1/2 50 PT 781
190120 781306  CARRIAGE BOLTS 18-8SS 3/8-16 X 2 50 PT 781
190121 781318  CARRIAGE BOLTS 18-8SS 3/8-16 X2 1/2 50 PT 781
190122 781330 CARRIAGE BOLTS 18-8SS 3/8-16 X 3 50 PT 781
190123 781342  CARRIAGE BOLTS 18-8SS 3/8-16 X 3 1/2 50 PT 781
190124 781354  CARRIAGE BOLTS 18-8SS 3/8-16 X 4 50 PT 781
190125 781366  CARRIAGE BOLTS 18-8SS 3/8-16 X 5 50 PT 781
190161 781378  CARRIAGE BOLTS 18-8SS 3/8-16 X 6 50 PT 781

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

|
L
L
l—
)
)
@
L
-
=
s
)

b. 1



|
L
L
l—
0
0
@
L
-
=
s
0

b.2

STAINLESS STEEL

CARRIAGE BOLTS 18-85S

GRATIN 881 pescrupron X W T
190126 781384 CARRIAGE BOLTS 18-8SS 1/2-13 X 1 50 PT 781
190127 781396 CARRIAGE BOLTS 18-8SS 1/2-13 X 11/2 50 PT 781
190128 781408 CARRIAGE BOLTS 18-8SS 1/2-13 X 2 25 PT 781
190129 781420 CARRIAGE BOLTS 18-8SS 1/2-13 X2 1/2 50 PT 781
190130 781432 CARRIAGE BOLTS 18-8SS 1/2-13 X 3 50 PT 781
190131 781444 CARRIAGE BOLTS 18-8SS 1/2-13 X 31/2 25 PT 781
190132 781456 CARRIAGE BOLTS 18-8SS 1/2-13 X 4 25 PT 781
190134 781468 CARRIAGE BOLTS 18-8SS 1/2-13 X5 25 PT 781
190136 781480 CARRIAGE BOLTS 18-8SS 1/2-13 X 6 25 PT 781

“Your Complete Fastener Source”
grattanfasteners.com



STAINLESS STEEL

HEX LAG BOLTS 18-8SS

\ A4

PART#  paRT# DESCRIPTION sieE QT GODE  GODE

190200 782006 HEX LAG SCREWS 18-8SS 1/4 X1 100 PT 782

190201 782012  HEXLAG SCREWS 18-8SS 174 X1 1/4 100 PT 782

190202 782018 HEXLAG SCREWS 18-8SS 1/4 X112 100 PT 782

190203 782030 HEX LAG SCREWS 18-8SS 14 X2 100 PT 782

190204 782036  HEX LAG SCREWS 18-8SS 114 X21/2 100 PT 782

190205 782048 HEXLAG SCREWS 18-8SS 174 X3 100 PT 782

190206 782054 HEXLAG SCREWS 18-8SS 1/4 X3 1/2 50 PT 782

190207 782060 HEX LAG SCREWS 18-8SS 174 X4 50 PT 782

190245 782066 HEX LAG SCREWS 18-8SS 114 X4 1/2 50 PT 782

190246 782072 HEXLAG SCREWS 18-8SS 14 X5 50 PT 782

190247 782078 HEXLAG SCREWS 18-8SS 1/4 X5 1/2 50 PT 782

190248 782084 HEX LAG SCREWS 18-8SS 1/4 X6 50 PT 782

190209 782090 HEX LAG SCREWS 18-8SS 5/16 X 1 100 PT 782

190208 782096  HEX LAG SCREWS 18-8SS 5/16 X 1 1/4 100 PT 782

190210 782102 HEXLAG SCREWS 18-8SS 5/16 X 1 1/2 100 PT 782

190211 782114  HEX LAG SCREWS 18-8SS 5/16 X 2 100 PT 782

190212 782120 HEX LAG SCREWS 18-8SS 5/16 X2 1/2 100 PT 782

190213 782126  HEX LAG SCREWS 18-8SS 5/16 X 3 100 PT 782

190249 782132 HEX LAG SCREWS 18-8SS 5/16 X 3 1/2 50 PT 782

190250 782138 HEXLAG SCREWS 18-8SS 5/16 X 4 50 PT 782

190254 782144  HEX LAG SCREWS 18-8SS 5/16 X4 1/2 50 PT 782

190251 782150 HEX LAG SCREWS 18-8SS 5/16 X5 50 PT 782 E
190252 782156  HEX LAG SCREWS 18-8SS 5/16 X5 1/2 50 PT 782 E
190253 782162 HEXLAG SCREWS 18-8SS 5/16 X 6 50 PT 782 (9))]
190215 782168  HEX LAG SCREWS 18-8SS 3/8 X 1 50 PT 782 @
190216 782180 HEX LAG SCREWS 18-8SS 3/8 X11/2 50 PT 782 Z
190217 782192 HEXLAG SCREWS 18-8SS 3/8 X2 50 PT 782 E
190218 782198 HEXLAG SCREWS 18-8SS 3/8 X21/2 50 PT 782 @
190219 782204 HEX LAG SCREWS 18-8SS 3/8 X3 50 PT 782

190220 782210 HEX LAG SCREWS 18-8SS 3/8 X31/2 50 PT 782

190221 782216  HEX LAG SCREWS 18-8SS 3/8 X4 50 PT 782

190223 782222 HEXLAG SCREWS 18-8SS 3/8 X5 50 PT 782

190224 782228 HEXLAG SCREWS 18-8SS 3/8 X51/2 50 PT 782

190225 782234  HEX LAG SCREWS 18-8SS 3/8 X6 50 PT 782

190230 782240 HEXLAG SCREWS 18-8SS 12 X11/2 25 PT 782

190231 782252 HEXLAG SCREWS 18-8SS 12X2 25 PT 782

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



STAINLESS STEEL

HEX LAG BOLTS 18-8SS

V'V

PART#  paRT# DESCRPTION SizE Q™ GODE  GODE
190232 782258 HEXLAG SCREWS 18-8SS 12 X21/2 25 PT 782
190233 782264 HEX LAG SCREWS 18-8SS 12X3 25 PT 782
190234 782270 HEX LAG SCREWS 18-8SS 12X 31/2 25 PT 782
190235 782276  HEX LAG SCREWS 18-8SS 12 X4 25 PT 782
190236 782282 HEXLAG SCREWS 18-8SS 12 X4 1/2 25 PT 782
190237 782288 HEXLAG SCREWS 18-8SS 12 X5 25 PT 782
190238 782294 HEXLAG SCREWS 18-8SS 12X51/2 25 PT 782
190239 782300 HEXLAG SCREWS 18-8SS 12 X6 25 PT 782
190260 782306 HEXLAG SCREWS 18-8SS 5/8 X 2 25 PT 782
190261 782312  HEXLAG SCREWS 18-8SS 5/8 X21/2 25 PT 782
190262 782318 HEX LAG SCREWS 18-8SS 5/8 X 3 25 PT 782
190263 782324 HEXLAG SCREWS 18-8SS 5/8 X31/2 25 PT 782
190264 782330 HEXLAG SCREWS 18-8SS 5/8 X 4 25 PT 782
190265 782336 HEX LAG SCREWS 18-8SS 5/8 X4 1/2 25 PT 782
190266 782342 HEXLAG SCREWS 18-8SS 5/8 X5 25 PT 782
190267 782348 HEXLAG SCREWS 18-8SS 5/8 X5 1/2 25 PT 782
190268 782354 HEXLAG SCREWS 18-8SS 5/8 X 6 25 PT 782

|
L
L
l—
0
0
@
L
-
=
s
0

“Your Complete Fastener Source”
grattanfasteners.com



STAINLESS STEEL

N
7/

T 1(O)

HEX MACHINE SCREW NUTS 18-8SS

GRATIN 881 pescrupron 0 W, ey
191013 764018 HEX MACHINE SCREW NUTS 18-8SS 4-40 100 PT 764
191001 764024 HEX MACHINE SCREW NUTS 18-8SS 6-32 100 PT 764
191002 764030 HEX MACHINE SCREW NUTS 18-8SS 10-24 100 PT 764
191003 764036 HEX MACHINE SCREW NUTS 18-8SS 10-32 100 PT 764
191004 764042 HEX MACHINE SCREW NUTS 18-8SS 10-32 100 PT 764
191016 764038 HEX MACHINE SCREW NUTS 18-8SS 12-24 100 PT 764

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

d. 1



STAINLESS STEEL

N
7/

T 1(O)

FINISHED HEX NUTS 18-85S

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
191005 762036 COARSE HEX NUTS 18-8SS 1/4-20 100 PT 762
191006 762054  COARSE HEX NUTS 18-8SS 5/16-18 100 PT 762
191007 762066 COARSE HEX NUTS 18-8SS 3/8-16 100 PT 762
191014 762078  COARSE HEX NUTS 18-8SS 7/16-14 100 PT 762
191008 762090 COARSE HEX NUTS 18-8SS 1/2-13 50 PT 762
191015 762100 COARSE HEX NUTS 18-8SS 9/16-12 50 PT 762
191009 762102  COARSE HEX NUTS 18-8SS 5/8-11 50 PT 762
191010 762108  COARSE HEX NUTS 18-8SS 3/4-10 25 PT 762
191011 762114  COARSE HEX NUTS 18-8SS 7/8-9 25 PT 762
191012 762006 COARSE HEX NUTS 18-8SS 1-8 10 PT 762

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



|
L
L
l—
0
0
@
L
-
=
s
0

STAINLESS STEEL

2N
(O)
\ /
~ FINISHED HEX NUTS 18-8SS
GRATTAN BBl BOX VD FAMILY
PART# PART# DESCRIPTION SizE QTY CODE CODE
192001 762042  FINE HEX NUTS 18-8SS 1/4-28 100  PT 762
192002 762060  FINE HEX NUTS 18-8SS 5/116-24 100  PT 762
192003 762072  FINE HEX NUTS 18-8SS 3/8-24 100  PT 762
192004 762096  FINE HEX NUTS 18-8SS 1/2-20 50 PT 762
192005 762104  FINE HEX NUTS 18-8SS 5/8-18 25 PT 762
192006 762110  FINE HEX NUTS 18-8SS 3/4-16 25 PT 762
192007 762116 FINE HEX NUTS 18-8SS 7/8-14 25 PT 762
192008 762008  FINE HEX NUTS 18-8SS 1-14 10 PT 762

“Your Complete Fastener Source”
grattanfasteners.com



STAINLESS STEEL

HEX NUTS COUPLING NUTS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
192101 048006 HEX COUPLING NUTS 18-8SS 6-32 25 PT 048
192102 048008 HEX COUPLING NUTS 18-8SS 8-32 25 PT 048
192103 048007 HEX COUPLING NUTS 18-8SS 10-24 25 PT 048
192104 048009 HEX COUPLING NUTS 18-8SS 10-32 25 PT 048
192105 048010 HEX COUPLING NUTS 18-8SS 1/4-20 25 PT 048
192106 048019  HEX COUPLING NUTS 18-8SS 5/16-18 25 PT 048
192107 048030 HEX COUPLING NUTS 18-8SS 3/8-16 25 PT 048
192111 048716  HEX COUPLING NUTS 18-8SS 7/16-14 25 PT 048
192108 048050 HEX COUPLING NUTS 18-8SS 1/2-13 25 PT 048
192109 048408  HEX COUPLING NUTS 18-8SS 5/8-11 25 PT 048
192110 048070 HEX COUPLING NUTS 18-8SS 3/4-10 25 PT 048
192112 048011 HEX COUPLING NUTS 18-8SS 1/4-28 25 PT 048
192113 048051 HEX COUPLING NUTS 18-8SS 1/2-20 25 PT 048

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

f.1



STAINLESS STEEL

NYLON INSERT LOCKNUTS 18-8SS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
193001 310011 NYLON INSERT LOCKNUTS 18-8SS 6-32 100 PT 310
193002 310013  NYLON INSERT LOCKNUTS 18-8SS 8-32 100 PT 310
193003 310015  NYLON INSERT LOCKNUTS 18-8SS 10-24 100 PT 310
193004 310029  NYLON INSERT LOCKNUTS 18-8SS 10-32 100 PT 310
193005 310057  NYLON INSERT LOCKNUTS 18-8SS 1/4-20 100 PT 310
193006 310059  NYLON INSERT LOCKNUTS 18-8SS 5/16-18 100 PT 310
193007 310061  NYLON INSERT LOCKNUTS 18-8SS 3/8-16 100 PT 310
193013 310063  NYLON INSERT LOCKNUTS 18-8SS 7/16-14 100 PT 310
193008 310065 NYLON INSERT LOCKNUTS 18-8SS 1/2-13 50 PT 310
193009 310069  NYLON INSERT LOCKNUTS 18-8SS 5/8-11 25 PT 310
193010 310071  NYLON INSERT LOCKNUTS 18-8SS 3/4-10 25 PT 310
193011 310073  NYLON INSERT LOCKNUTS 18-8SS 7/8-9 25 PT 310
193012 310079  NYLON INSERT LOCKNUTS 18-8SS 1-8 10 PT 310

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com g. 1



STAINLESS STEEL

NYLON INSERT LOCKNUTS FINE 18-8SS

PARTH ART# DESCRIPTION sieE QT GODE  GODE
194001 310081 NYLON INSERT LOCKNUTS FINE 18-8SS 1/4-28 100 PT 310
194002 310083  NYLON INSERT LOCKNUTS FINE 18-8SS 5/16-24 100 PT 310
194003 310085  NYLON INSERT LOCKNUTS FINE 18-8SS 3/8-24 100 PT 310
194009 310087  NYLON INSERT LOCKNUTS FINE 18-8SS 7/16-20 100 PT 310
194004 310089  NYLON INSERT LOCKNUTS FINE 18-8SS 1/2-20 50 PT 310
194005 310093  NYLON INSERT LOCKNUTS FINE 18-8SS 5/8-18 25 PT 310
194006 310095  NYLON INSERT LOCKNUTS FINE 18-8SS 3/4-16 25 PT 310

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com h. 1



STAINLESS STEEL

.

O)

\ /

< ACORN NUTS 18-85S

PART# PpART# DESCRIPTION size ar  CODE CODE
195001 569030 CAP NUTS 18-85S 6-32 100 PT 569
195002 569034  CAP NUTS 18-8SS 8-32 100 PT 569
195003 569038  CAP NUTS 18-8SS 10-24 100 PT 569
195004 569240  CAP NUTS 18-8SS 10-32 100 PT 569
195005 569046  CAP NUTS 18-85S 1/4-20 100 PT 569
195006 569050 CAP NUTS 18-8SS 5/16-18 100 PT 569
195007 569054 CAP NUTS 18-8SS 3/8-16 50  PT 569
195008 569062 CAP NUTS 18-8SS 17213 50  PT 569

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



STAINLESS STEEL

WING NUTS 18-8SS

GRATIN 881 pescrupron 0 W, ey
196001 768006 WING NUTS 18-8SS 6-32 100 PT 768
196002 768012 WING NUTS 18-8SS 8-32 100 PT 768
196003 768018  WING NUTS 18-8SS 10-24 100 PT 768
196004 768024  WING NUTS 18-8SS 10-32 100 PT 768
196005 768030 WING NUTS 18-8SS 1/4-20 100 PT 768
196006 768036 WING NUTS 18-8SS 5/16-18 100 PT 768
196007 768042 WING NUTS 18-8SS 3/8-16 50 PT 768
196008 768048  WING NUTS 18-8SS 1/2-13 50 PT 768

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513 .
grattanfasteners.com 1



STAINLESS STEEL

FLAT WASHERS 18-85S

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
197012 393060 FLAT WASHERS 18-8SS #4 100 PT 393
197001 393080  FLAT WASHERS 18-8SS #6 100 PT 393
197002 393100  FLAT WASHERS 18-8SS #8 100 PT 393
197003 393120  FLAT WASHERS 18-8SS #10 100 PT 393
197004 390040  FLAT WASHERS 18-8SS 1/4 100 PT 390
197005 390080  FLAT WASHERS 18-8SS 5/16 100 PT 390
197006 390140  FLAT WASHERS 18-8SS 3/8 100 PT 390
197013 391180  FLAT WASHERS 18-8SS 7/16 100 PT 391
197007 390200 FLAT WASHERS 18-8SS 1/2 100 PT 390
197008 390220  FLAT WASHERS 18-8SS 5/8 50 PT 390
197009 390260  FLAT WASHERS 18-8SS 3/4 50 PT 390
197010 390280  FLAT WASHERS 18-8SS 7/8 25 PT 390
197011 390300 FLAT WASHERS 18-8SS 1 25 PT 390

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

k.1



STAINLESS STEEL

FLAT WASHERS AN 960 18-85S

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
197022 391020 AN FLAT WASHERS 18-8SS #10 100 PT 391
197023 393140 AN FLAT WASHERS 18-8SS 1/4 100 PT 393
197024 393160 AN FLAT WASHERS 18-8SS 5/16 100 PT 393
197025 393180 AN FLAT WASHERS 18-8SS 3/8 100 PT 393
197026 393200 AN FLAT WASHERS 18-8SS 7/16 100 PT 393
197027 393220 AN FLAT WASHERS 18-8SS 12 100 PT 393
197029 393260 AN FLAT WASHERS 18-8SS 5/8 100 PT 393

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

|
L
L
l—
)
)
@
L
-
=
s
)




STAINLESS STEEL

FENDER WASHERS 18-8SS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
197105 392303 FENDER WASHERS 18-8SS 5/32 X 3/4 100 PT 392
197100 392306 FENDER WASHERS 18-8SS 3/16 X 11/16 100 PT 392
197106 392304 FENDER WASHERS 18-8SS 3/16 X 1 100 PT 392
197107 392230 FENDER WASHERS 18-8SS 3/16 X 1 1/4 100 PT 392
197101 392040 FENDER WASHERS 18-8SS 1/4 X1 100 PT 392
197104 392060 FENDER WASHERS 18-8SS 174 X1 1/4 100 PT 392
197102 392100 FENDER WASHERS 18-8SS 5/16 X 1 1/2 100 PT 392
197103 392160 FENDER WASHERS 18-8SS 3/8 X11/2 100 PT 392
197108 392220 FENDER WASHERS 18-8SS 172 X2 100 PT 392

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



STAINLESS STEEL

i% SPLIT LOCK WASHERS 18-85S

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
198012 754012  SPLIT LOCK WASHERS 18-8SS #4 100 PT 754
198001 754018  SPLIT LOCK WASHERS 18-8SS #6 100 PT 754
198002 754024  SPLIT LOCK WASHERS 18-8SS #8 100 PT 754
198003 754036  SPLIT LOCK WASHERS 18-8SS #10 100 PT 754
198004 754048  SPLIT LOCK WASHERS 18-8SS 1/4 100 PT 754
198005 754054  SPLIT LOCK WASHERS 18-8SS 5/16 100 PT 754
198006 754060  SPLIT LOCK WASHERS 18-8SS 3/8 100 PT 754
198013 754066  SPLIT LOCK WASHERS 18-8SS 7/16 100 PT 754
198007 754072  SPLIT LOCK WASHERS 18-8SS 1/2 100 PT 754
198008 754078  SPLIT LOCK WASHERS 18-8SS 5/8 50 PT 754
198009 754084  SPLIT LOCK WASHERS 18-8SS 3/4 50 PT 754
198010 754090  SPLIT LOCK WASHERS 18-8SS 7/8 50 PT 754
198011 754030  SPLIT LOCK WASHERS 18-8SS 1 25 PT 754

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



STAINLESS STEEL

COUNTERSUNK FINISHING WASHER 18-85S

L

GRATIN 881 pescrupron 0 W, ey
199001 223002 FINISHING WASHER 18-8SS #6 100 PT 223
199002 223004 FINISHING WASHER 18-8SS #8 100 PT 223
199003 223006 FINISHING WASHER 18-8SS #10 100 PT 223
199004 223008 FINISHING WASHER 18-8SS #12 100 PT 223
199005 223010 FINISHING WASHER 18-8SS #14 100 PT 223

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



STAINLESS STEEL

PAN PHILIPS SHEET METAL SCREWS 18-85S

PART#  paRT# DESCRIPTION sieE QT GODE  GODE

204002 792281 PAN PHIL SHEET METAL SCREWS 18-8SS #4 X 3/8 100 PT 792

204003 792283 PAN PHIL SHEET METAL SCREWS 18-8SS #4 X172 100 PT 792

204004 792284 PAN PHIL SHEET METAL SCREWS 18-8SS #4 X 5/8 100 PT 792

204005 792285 PAN PHIL SHEET METAL SCREWS 18-8SS #4 X 3/4 100 PT 792

204007 792012 PAN PHIL SHEET METAL SCREWS 18-8SS #6 X 3/8 100 PT 792

204008 792018 PAN PHIL SHEET METAL SCREWS 18-8SS #6 X 1/2 100 PT 792

204009 792024 PAN PHIL SHEET METAL SCREWS 18-8SS #06 X 5/8 100 PT 792

204010 792030 PAN PHIL SHEET METAL SCREWS 18-8SS #6 X 3/4 100 PT 792

204011 792036 PAN PHIL SHEET METAL SCREWS 18-8SS #6 X 1 100 PT 792

204012 792042 PAN PHIL SHEET METAL SCREWS 18-8SS #6X11/4 100 PT 792

204013 792048 PAN PHIL SHEET METAL SCREWS 18-8SS #6 X 11/2 100 PT 792

204055 792054 PAN PHIL SHEET METAL SCREWS 18-8SS #6 X 2 100 PT 792

204014 792059 PAN PHIL SHEET METAL SCREWS 18-8SS #8 X 3/8 100 PT 792

204015 792060 PAN PHIL SHEET METAL SCREWS 18-8SS #8 X 1/2 100 PT 792

204016 792066 PAN PHIL SHEET METAL SCREWS 18-8SS #8 X 5/8 100 PT 792

204017 792072 PAN PHIL SHEET METAL SCREWS 18-8SS #38 X 3/4 100 PT 792

204018 792084 PAN PHIL SHEET METAL SCREWS 18-8SS #38 X 1 100 PT 792

204019 792096 PAN PHIL SHEET METAL SCREWS 18-8SS #8X11/4 100 PT 792

204020 792102 PAN PHIL SHEET METAL SCREWS 18-8SS #3 X 11/2 100 PT 792

204045 792108 PAN PHIL SHEET METAL SCREWS 18-8SS #8 X2 100 PT 792

204056 792114 PAN PHIL SHEET METAL SCREWS 18-8SS #8 X 21/2 100 PT 792

204057 792120 PAN PHIL SHEET METAL SCREWS 18-8SS #8 X3 100 PT 792 E
204021 792122 PAN PHIL SHEET METAL SCREWS 18-8SS #10 X 3/8 100 PT 792 E
204022 792126 PAN PHIL SHEET METAL SCREWS 18-8SS #10 X 1/2 100 PT 792 (9))]
204023 792132 PAN PHIL SHEET METAL SCREWS 18-8SS #10 X 5/8 100 PT 792 ‘é)
204024 792138 PAN PHIL SHEET METAL SCREWS 18-8SS #10 X 3/4 100 PT 792 Z
204025 792150 PAN PHIL SHEET METAL SCREWS 18-8SS #10 X 1 100 PT 792 E
204026 792156 PAN PHIL SHEET METAL SCREWS 18-8SS #10 X1 1/4 100 PT 792 @
204027 792162 PAN PHIL SHEET METAL SCREWS 18-8SS #10 X 1 1/2 100 PT 792

204029 792168 PAN PHIL SHEET METAL SCREWS 18-8SS #10 X 2 100 PT 792

204046 792174 PAN PHIL SHEET METAL SCREWS 18-8SS #10 X2 1/2 100 PT 792

204047 792180 PAN PHIL SHEET METAL SCREWS 18-8SS #10X 3 100 PT 792

204030 792186 PAN PHIL SHEET METAL SCREWS 18-8SS #12 X 1/2 100 PT 792

204032 792198 PAN PHIL SHEET METAL SCREWS 18-8SS #12 X 3/4 100 PT 792

204033 792204 PAN PHIL SHEET METAL SCREWS 18-8SS #12 X1 100 PT 792

204034 792210 PAN PHIL SHEET METAL SCREWS 18-8SS #12X11/4 100 PT 792

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com P- 1



|
L
L
l—
0
0
@
L
-
=
s
0

p. 2

STAINLESS STEEL

PAN PHILIPS SHEET METAL SCREWS 18-8SS

PART#  paRT4# DESCRPTION siE QT GODE  GODE
204035 792216 PAN PHIL SHEET METAL SCREWS 18-8SS #12 X 11/2 100 PT 792
204037 792222 PAN PHIL SHEET METAL SCREWS 18-8SS #12X2 100 PT 792
204038 792228 PAN PHIL SHEET METAL SCREWS 18-8SS #12 X2 1/2 100 PT 792
204039 792234 PAN PHIL SHEET METAL SCREWS 18-8SS #12 X3 100 PT 792
204040 792246 PAN PHIL SHEET METAL SCREWS 18-8SS #14 X 3/4 100 PT 792
204041 792252 PAN PHIL SHEET METAL SCREWS 18-8SS #14 X1 100 PT 792
204042 792258 PAN PHIL SHEET METAL SCREWS 18-8SS #14 X1 1/4 100 PT 792
204043 792264 PAN PHIL SHEET METAL SCREWS 18-8SS #14 X 11/2 100 PT 792
204044 792270 PAN PHIL SHEET METAL SCREWS 18-8SS #14 X 2 100 PT 792
204048 792276 PAN PHIL SHEET METAL SCREWS 18-8SS #14 X 21/2 100 PT 792
204049 792282 PAN PHIL SHEET METAL SCREWS 18-8SS #14 X 3 100 PT 792

“Your Complete Fastener Source”
grattanfasteners.com



STAINLESS STEEL

IND HEX HD SHEET METAL SCREWS 18-85S

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
204100 673500 IND HEX SHEET METAL SCREWS 18-8SS #6 X 1/2 100 PT 673
204101 673515  IND HEX SHEET METAL SCREWS 18-8SS #06 X 3/4 100 PT 673
204105 673040  IND HEX SHEET METAL SCREWS 18-8SS #8 X 1/2 100 PT 673
204106 673530  IND HEX SHEET METAL SCREWS 18-8SS #8 X 3/4 100 PT 673
204107 673060  IND HEX SHEET METAL SCREWS 18-8SS #8 X 1 100 PT 673
204108 673540  IND HEX SHEET METAL SCREWS 18-8SS #8 X 11/4 100 PT 673
204109 673070  IND HEX SHEET METAL SCREWS 18-8SS #3 X 11/2 100 PT 673
204110 673550  IND HEX SHEET METAL SCREWS 18-8SS #10 X 1/2 100 PT 673
204111 673090  IND HEX SHEET METAL SCREWS 18-8SS #10 X 3/4 100 PT 673
204112 673100  IND HEX SHEET METAL SCREWS 18-8SS #10 X1 100 PT 673
204113 673565  IND HEX SHEET METAL SCREWS 18-8SS #10 X1 1/4 100 PT 673
204114 673110  IND HEX SHEET METAL SCREWS 18-8SS #10 X 11/2 100 PT 673
204116 673575  IND HEX SHEET METAL SCREWS 18-8SS #12 X 3/4 100 PT 673
204117 673130  IND HEX SHEET METAL SCREWS 18-8SS #12 X1 100 PT 673
204118 673585  IND HEX SHEET METAL SCREWS 18-8SS #12 X1 1/4 100 PT 673
204119 673140  IND HEX SHEET METAL SCREWS 18-8SS #12 X 11/2 100 PT 673
204121 673595  IND HEX SHEET METAL SCREWS 18-8SS #14 X 3/4 100 PT 673
204122 673600 IND HEX SHEET METAL SCREWS 18-8SS #14 X1 100 PT 673
204123 673603  IND HEX SHEET METAL SCREWS 18-8SS #14 X1 1/4 100 PT 673
204124 673605  IND HEX SHEET METAL SCREWS 18-8SS #14 X1 1/2 100 PT 673
204125 673607  IND HEX SHEET METAL SCREWS 18-8SS #14 X 2 100 PT 673

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com qg. 1



STAINLESS STEEL

TP

FLAT HD PHILIPS SHEET METAL SCREWS 18-8SS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE

205001 790269  FLAT PHIL SHEET METAL SCREWS 18-8SS #4 X 1/4 100 PT 790

205002 790271 FLAT PHIL SHEET METAL SCREWS 18-8SS #4 X 3/8 100 PT 790

205003 790272  FLAT PHIL SHEET METAL SCREWS 18-8SS #4 X 1/2 100 PT 790

205004 790273  FLAT PHIL SHEET METAL SCREWS 18-8SS #4 X 5/8 100 PT 790

205005 790274  FLAT PHIL SHEET METAL SCREWS 18-8SS #4 X 3/4 100 PT 790

205006 790006  FLAT PHIL SHEET METAL SCREWS 18-8SS #06 X 3/8 100 PT 790

205007 790012  FLAT PHIL SHEET METAL SCREWS 18-8SS #6 X 1/2 100 PT 790

205008 790018  FLAT PHIL SHEET METAL SCREWS 18-8SS #6 X 5/8 100 PT 790

205009 790024  FLAT PHIL SHEET METAL SCREWS 18-8SS #6 X 3/4 100 PT 790

205010 790036  FLAT PHIL SHEET METAL SCREWS 18-8SS #6 X 1 100 PT 790

205011 790042  FLAT PHIL SHEET METAL SCREWS 18-8SS #6 X 11/4 100 PT 790

205012 790048  FLAT PHIL SHEET METAL SCREWS 18-8SS #6 X 11/2 100 PT 790

205013 790275  FLAT PHIL SHEET METAL SCREWS 18-8SS #6 X 2 100 PT 790

205014 790282  FLAT PHIL SHEET METAL SCREWS 18-8SS #8 X 3/8 100 PT 790

205015 790054  FLAT PHIL SHEET METAL SCREWS 18-8SS #8 X 1/2 100 PT 790

205016 790060  FLAT PHIL SHEET METAL SCREWS 18-8SS #38 X 5/8 100 PT 790

205017 790066  FLAT PHIL SHEET METAL SCREWS 18-8SS #8 X 3/4 100 PT 790

205018 790078  FLAT PHIL SHEET METAL SCREWS 18-8SS #8 X 1 100 PT 790

205019 790084  FLAT PHIL SHEET METAL SCREWS 18-8SS #8 X 11/4 100 PT 790

205020 790090  FLAT PHIL SHEET METAL SCREWS 18-8SS #3X 112 100 PT 790

205045 790102  FLAT PHIL SHEET METAL SCREWS 18-8SS #8 X 2 100 PT 790

205050 790108  FLAT PHIL SHEET METAL SCREWS 18-8SS #8X21/2 100 PT 790 E
205051 790114  FLAT PHIL SHEET METAL SCREWS 18-8SS #3 X3 100 PT 790 E
205021 790283  FLAT PHIL SHEET METAL SCREWS 18-8SS #10 X 3/8 100 PT 790 (9))]
205022 790284  FLAT PHIL SHEET METAL SCREWS 18-8SS #10 X 1/2 100 PT 790 @
205023 790120  FLAT PHIL SHEET METAL SCREWS 18-8SS #10 X 5/8 100 PT 790 Z
205024 790126  FLAT PHIL SHEET METAL SCREWS 18-8SS #10 X 3/4 100 PT 790 E
205025 790138  FLAT PHIL SHEET METAL SCREWS 18-8SS #10 X1 100 PT 790 @
205026 790144  FLAT PHIL SHEET METAL SCREWS 18-8SS #10X 1 1/4 100 PT 790

205027 790150  FLAT PHIL SHEET METAL SCREWS 18-8SS #10X 1 1/2 100 PT 790

205029 790162  FLAT PHIL SHEET METAL SCREWS 18-8SS #10 X 2 100 PT 790

205046 790168  FLAT PHIL SHEET METAL SCREWS 18-8SS #10X21/2 100 PT 790

205047 790174  FLAT PHIL SHEET METAL SCREWS 18-8SS #10 X 3 100 PT 790

205030 790285  FLAT PHIL SHEET METAL SCREWS 18-8SS #12 X 1/2 100 PT 790

205031 790279  FLAT PHIL SHEET METAL SCREWS 18-8SS #12 X 5/8 100 PT 790

205032 790180  FLAT PHIL SHEET METAL SCREWS 18-8SS #12 X 3/4 100 PT 790

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

r



STAINLESS STEEL

TP

FLAT HD PHILIPS SHEET METAL SCREWS 18-8SS

PART#  paRT4# DESCRPTION siE QT GODE  GODE
205033 790186  FLAT PHIL SHEET METAL SCREWS 18-8SS #12 X1 100 PT 790
205034 790192  FLAT PHIL SHEET METAL SCREWS 18-8SS #12 X1 1/4 100 PT 790
205035 790198  FLAT PHIL SHEET METAL SCREWS 18-8SS #12 X1 1/2 100 PT 790
205037 790210  FLAT PHIL SHEET METAL SCREWS 18-8SS #12 X2 100 PT 790
205036 790216  FLAT PHIL SHEET METAL SCREWS 18-8SS #12X21/2 100 PT 790
205039 790222  FLAT PHIL SHEET METAL SCREWS 18-8SS #12X3 100 PT 790
205038 790280  FLAT PHIL SHEET METAL SCREWS 18-8SS #14 X 1/2 100 PT 790
205040 790228  FLAT PHIL SHEET METAL SCREWS 18-8SS #14 X 3/4 100 PT 790
205041 790234  FLAT PHIL SHEET METAL SCREWS 18-8SS #14 X1 100 PT 790
205042 790240  FLAT PHIL SHEET METAL SCREWS 18-8SS #14 X 11/4 100 PT 790
205043 790246  FLAT PHIL SHEET METAL SCREWS 18-8SS #14 X 1 1/2 100 PT 790
205044 790258  FLAT PHIL SHEET METAL SCREWS 18-8SS #14 X 2 100 PT 790
205048 790264  FLAT PHIL SHEET METAL SCREWS 18-8SS #14 X2 1/2 100 PT 790
205049 790270  FLAT PHIL SHEET METAL SCREWS 18-8SS #14 X3 100 PT 790

|
L
L
l—
0
0
@
L
-
=
s
0

) “Your Complete Fastener Source”
r grattanfasteners.com



STAINLESS STEEL

OVAL HD PHILIPS SHEET METAL SCREWS 18-85S

PART#  paRT# DESCRIPTION sieE QT GODE  GODE

206001 791005  OVAL PHIL SHEET METAL SCREWS 18-8SS #4 X 1/4 100 PT 791

206002 791001  OVAL PHIL SHEET METAL SCREWS 18-8SS #4 X 3/8 100 PT 791

206003 791002  OVAL PHIL SHEET METAL SCREWS 18-8SS #4 X 1/2 100 PT 791

206004 791003  OVAL PHIL SHEET METAL SCREWS 18-8SS #4 X 5/8 100 PT 791

206005 791004  OVAL PHIL SHEET METAL SCREWS 18-8SS #4 X 3/4 100 PT 791

206007 791006  OVAL PHIL SHEET METAL SCREWS 18-8SS #06 X 3/8 100 PT 791

206008 791012  OVAL PHIL SHEET METAL SCREWS 18-8SS #6 X 1/2 100 PT 791

206009 791018  OVAL PHIL SHEET METAL SCREWS 18-8SS #6 X 5/8 100 PT 791

206010 791024  OVAL PHIL SHEET METAL SCREWS 18-8SS #6 X 3/4 100 PT 791

206011 791036  OVAL PHIL SHEET METAL SCREWS 18-8SS #6 X 1 100 PT 791

206012 791042  OVAL PHIL SHEET METAL SCREWS 18-8SS #6 X 11/4 100 PT 791

206013 791048  OVAL PHIL SHEET METAL SCREWS 18-8SS #6 X 11/2 100 PT 791

206014 791057  OVAL PHIL SHEET METAL SCREWS 18-8SS #8 X 3/8 100 PT 791

206015 791060  OVAL PHIL SHEET METAL SCREWS 18-8SS #8 X 1/2 100 PT 791

206016 791069  OVAL PHIL SHEET METAL SCREWS 18-8SS #8 X 5/8 100 PT 791

206017 791066  OVAL PHIL SHEET METAL SCREWS 18-8SS #38 X 3/4 100 PT 791

206018 791078  OVAL PHIL SHEET METAL SCREWS 18-8SS #38 X 1 100 PT 791

206019 791084  OVAL PHIL SHEET METAL SCREWS 18-8SS #8X11/4 100 PT 791

206020 791090  OVAL PHIL SHEET METAL SCREWS 18-8SS #3 X 11/2 100 PT 791

206045 791096  OVAL PHIL SHEET METAL SCREWS 18-8SS #8 X2 100 PT 791

206022 791254  OVAL PHIL SHEET METAL SCREWS 18-8SS #10 X 1/2 100 PT 791

206023 791108  OVAL PHIL SHEET METAL SCREWS 18-8SS #10 X 5/8 100 PT 791 E
206024 791114  OVAL PHIL SHEET METAL SCREWS 18-8SS #10 X 3/4 100 PT 791 E
206025 791126 ~ OVAL PHIL SHEET METAL SCREWS 18-8SS #10 X1 100 PT 791 (9))]
206026 791132  OVAL PHIL SHEET METAL SCREWS 18-8SS #10X 1 1/4 100 PT 791 ‘é)
206027 791138  OVAL PHIL SHEET METAL SCREWS 18-8SS #10X 1 1/2 100 PT 791 Z
206029 791150  OVAL PHIL SHEET METAL SCREWS 18-8SS #10 X 2 100 PT 791 E
206046 791156  OVAL PHIL SHEET METAL SCREWS 18-8SS #10 X2 1/2 100 PT 791 @
206047 791162  OVAL PHIL SHEET METAL SCREWS 18-8SS #10 X 3 100 PT 791

206032 791255  OVAL PHIL SHEET METAL SCREWS 18-8SS #12 X 3/4 100 PT 791

206033 791174  OVAL PHIL SHEET METAL SCREWS 18-8SS #12 X1 100 PT 791

206034 791180  OVAL PHIL SHEET METAL SCREWS 18-8SS #12X11/4 100 PT 791

206035 791186  OVAL PHIL SHEET METAL SCREWS 18-8SS #12 X1 1/2 100 PT 791

206037 791198  OVAL PHIL SHEET METAL SCREWS 18-8SS #12X2 100 PT 791

206038 791214  OVAL PHIL SHEET METAL SCREWS 18-8SS #14 X 1/2 100 PT 791

206040 791216  OVAL PHIL SHEET METAL SCREWS 18-8SS #14 X 3/4 100 PT 791

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



|
L
L
l—
0
0
@
L
-
=
s
0

STAINLESS STEEL

OVAL HD PHILIPS SHEET METAL SCREWS 18-85S

GRATIN 881 pescrpron o ¥ty
206041 791222 OVAL PHIL SHEET METAL SCREWS 18-8SS #14 X 1 100 PT 791
206042 791228 OVAL PHIL SHEET METAL SCREWS 18-8SS #14 X 11/4 100 PT 791
206043 791234  OVAL PHIL SHEET METAL SCREWS 18-8SS #14 X 11/2 100 PT 791
206044 791240 OVAL PHIL SHEET METAL SCREWS 18-8SS #14 X 2 100 PT 791

“Your Complete Fastener Source”
grattanfasteners.com



STAINLESS STEEL

@ OVAL PHILLIPS HEAD MACHINE SCREWS 18-8SS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE

202099 772084  OVAL PHIL MACHINE SCREWS 18-8SS 6-32 X 3/8 100 PT 772

202100 772096  OVAL PHIL MACHINE SCREWS 18-8SS 6-32 X 1/2 100 PT 772

202101 772102  OVAL PHIL MACHINE SCREWS 18-8SS 6-32 X 5/8 100 PT 772

202102 772108  OVAL PHIL MACHINE SCREWS 18-8SS 6-32 X 3/4 100 PT 772

202104 772120  OVAL PHIL MACHINE SCREWS 18-8SS 6-32 X 1 100 PT 772

202106 772132  OVAL PHIL MACHINE SCREWS 18-8SS 6-32X11/2 100 PT 772

202108 772138  OVAL PHIL MACHINE SCREWS 18-8SS 6-32 X 2 100 PT 772

202110 772162  OVAL PHIL MACHINE SCREWS 18-8SS 8-32 X 1/2 100 PT 772

202111 772168  OVAL PHIL MACHINE SCREWS 18-8SS 8-32 X 5/8 100 PT 772

202112 772174  OVAL PHIL MACHINE SCREWS 18-8SS 8-32 X 3/4 100 PT 772

202114 772186  OVAL PHIL MACHINE SCREWS 18-8SS 8-32 X1 100 PT 772

202116 772198  OVAL PHIL MACHINE SCREWS 18-8SS 8-32 X 11/2 100 PT 772

202118 772204  OVAL PHIL MACHINE SCREWS 18-8SS 8-32 X2 100 PT 772

202119 772206  OVAL PHIL MACHINE SCREWS 18-8SS 8-32X21/2 100 PT 772

202120 772210  OVAL PHIL MACHINE SCREWS 18-8SS 8-32 X3 100 PT 772

202121 772216  OVAL PHIL MACHINE SCREWS 18-8SS 10-24 X 3/8 100 PT 772

202122 772222  OVAL PHIL MACHINE SCREWS 18-8SS 10-24 X 1/2 100 PT 772

202123 772228  OVAL PHIL MACHINE SCREWS 18-8SS 10-24 X 5/8 100 PT 772

202124 772234  OVAL PHIL MACHINE SCREWS 18-8SS 10-24 X 3/4 100 PT 772

202126 772246  OVAL PHIL MACHINE SCREWS 18-8SS 10-24 X 1 100 PT 772

202128 772258  OVAL PHIL MACHINE SCREWS 18-8SS 10-24 X 1 1/2 100 PT 772

202129 772270  OVAL PHIL MACHINE SCREWS 18-8SS 10-24 X 2 100 PT 772 E
202130 772276  OVAL PHIL MACHINE SCREWS 18-8SS 10-24 X2 1/2 100 PT 772 E
202131 772282  OVAL PHIL MACHINE SCREWS 18-8SS 10-24 X 3 100 PT 772 (9))]
202132 772300 OVAL PHIL MACHINE SCREWS 18-8SS 10-32 X 3/8 100 PT 772 ‘é)
202133 772312  OVAL PHIL MACHINE SCREWS 18-8SS 10-32 X 1/2 100 PT 772 Z
202135 772324  OVAL PHIL MACHINE SCREWS 18-8SS 10-32 X 3/4 100 PT 772 E
202137 772330  OVAL PHIL MACHINE SCREWS 18-8SS 10-32 X 1 100 PT 772 @
202138 772336  OVAL PHIL MACHINE SCREWS 18-8SS 10-32 X1 1/4 100 PT 772

202139 772342  OVAL PHIL MACHINE SCREWS 18-8SS 10-32 X1 1/2 100 PT 772

202140 772354  OVAL PHIL MACHINE SCREWS 18-8SS 10-32 X 2 100 PT 772

202141 772360  OVAL PHIL MACHINE SCREWS 18-8SS 10-32X21/2 100 PT 772

202142 772366  OVAL PHIL MACHINE SCREWS 18-8SS 10-32 X3 100 PT 772

202145 772414  OVAL PHIL MACHINE SCREWS 18-8SS 1/4-20 X 3/4 100 PT 772

202147 772426  OVAL PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 100 PT 772

202148 772432  OVAL PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 1/4 100 PT 772

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

t. 1



|
L
L
l—
0
0
@
L
-
=
s
0

t. 2

STAINLESS STEEL

®

(S

OVAL PHILLIPS HEAD MACHINE SCREWS 18-8SS

GRATIN 881 pescrpron o ¥ty
202149 772438 OVAL PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 1/2 100 PT 772
202150 772450 OVAL PHIL MACHINE SCREWS 18-8SS 1/4-20 X 2 100 PT 772
202151 772462  OVAL PHIL MACHINE SCREWS 18-8SS 1/4-20 X 2 1/2 100 PT 772
202152 772474 OVAL PHIL MACHINE SCREWS 18-8SS 1/4-20 X 3 100 PT 772

“Your Complete Fastener Source”
grattanfasteners.com



STAINLESS STEEL

@ FLAT PHILLIPS MACHINE SCREWS 18-8SS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE

211001 771053  FLAT PHIL MACHINE SCREWS 18-8SS 4-40 X 3/16 100 PT 771

211002 771120  FLAT PHIL MACHINE SCREWS 18-8SS 4-40 X 1/4 100 PT 771

211003 771132  FLAT PHIL MACHINE SCREWS 18-8SS 4-40 X 3/8 100 PT 771

211004 771144  FLAT PHIL MACHINE SCREWS 18-8SS 4-40 X 1/2 100 PT 771

211000 771156 FLAT PHIL MACHINE SCREWS 18-8SS 4-40 X 5/8 100 PT 771

211005 771168  FLAT PHIL MACHINE SCREWS 18-8SS 4-40 X 3/4 100 PT 771

211006 771180  FLAT PHIL MACHINE SCREWS 18-8SS 4-40 X 1 100 PT 771

211007 771196  FLAT PHIL MACHINE SCREWS 18-8SS 6-32 X 3/16 100 PT 771

211008 771199  FLAT PHIL MACHINE SCREWS 18-8SS 6-32 X 1/4 100 PT 771

211009 771210  FLAT PHIL MACHINE SCREWS 18-8SS 6-32 X 3/8 100 PT 771

211010 771222  FLAT PHIL MACHINE SCREWS 18-8SS 6-32 X 1/2 100 PT 771

211015 771228  FLAT PHIL MACHINE SCREWS 18-8SS 6-32 X 5/8 100 PT 771

211011 771234  FLAT PHIL MACHINE SCREWS 18-8SS 6-32 X 3/4 100 PT 771

211012 771246  FLAT PHIL MACHINE SCREWS 18-8SS 6-32 X1 100 PT 771

211013 771252  FLAT PHIL MACHINE SCREWS 18-8SS 6-32X11/4 100 PT 771

211014 771258  FLAT PHIL MACHINE SCREWS 18-8SS 6-32 X 11/2 100 PT 771

211016 771270  FLAT PHIL MACHINE SCREWS 18-8SS 6-32 X 2 100 PT 771

211077 771729  FLAT PHIL MACHINE SCREWS 18-8SS 6-32X21/2 100 PT 771

211078 771276  FLAT PHIL MACHINE SCREWS 18-8SS 6-32 X3 100 PT 771

211017 771281 FLAT PHIL MACHINE SCREWS 18-8SS 8-32 X 1/4 100 PT 771

211018 771288  FLAT PHIL MACHINE SCREWS 18-8SS 8-32 X 3/8 100 PT 771

211019 771300  FLAT PHIL MACHINE SCREWS 18-8SS 8-32 X 1/2 100 PT 771 E
211020 771306  FLAT PHIL MACHINE SCREWS 18-8SS 8-32 X 5/8 100 PT 771 E
211021 771312 FLAT PHIL MACHINE SCREWS 18-8SS 8-32 X 3/4 100 PT 771 (9))]
211022 771324  FLAT PHIL MACHINE SCREWS 18-8SS 8-32 X1 100 PT 771 ‘é)
211023 771330  FLAT PHIL MACHINE SCREWS 18-8SS 8-32X11/4 100 PT 771 Z
211024 771336  FLAT PHIL MACHINE SCREWS 18-8SS 8-32 X 11/2 100 PT 771 E
211025 771340  FLAT PHIL MACHINE SCREWS 18-8SS 8-32X13/4 100 PT 771 @
211026 771342  FLAT PHIL MACHINE SCREWS 18-8SS 8-32 X2 100 PT 771

211079 771354  FLAT PHIL MACHINE SCREWS 18-8SS 8-32X21/2 100 PT 771

211080 771730  FLAT PHIL MACHINE SCREWS 18-8SS 8-32 X3 100 PT 771

211027 771361 FLAT PHIL MACHINE SCREWS 18-8SS 10-24 X 3/8 100 PT 771

211028 771372  FLAT PHIL MACHINE SCREWS 18-8SS 10-24 X 1/2 100 PT 771

211081 771378  FLAT PHIL MACHINE SCREWS 18-8SS 10-24 X 5/8 100 PT 771

211029 771384  FLAT PHIL MACHINE SCREWS 18-8SS 10-24 X 3/4 100 PT 771

211030 771396  FLAT PHIL MACHINE SCREWS 18-8SS 10-24 X 1 100 PT 771

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



|
L
L
l—
0
0
@
L
-
=
s
0

STAINLESS STEEL

&

FLAT PHILLIPS MACHINE SCREWS 18-85S

PART#  paRT4# DESCRPTION siE QT GODE  GODE
211031 771402  FLAT PHIL MACHINE SCREWS 18-8SS 10-24 X1 1/4 100 PT 771
211032 771408  FLAT PHIL MACHINE SCREWS 18-8SS 10-24 X 1 1/2 100 PT 771
211033 771414  FLAT PHIL MACHINE SCREWS 18-8SS 10-24 X 1 3/4 100 PT 771
211034 771420  FLAT PHIL MACHINE SCREWS 18-8SS 10-24 X 2 100 PT 771
211035 771426  FLAT PHIL MACHINE SCREWS 18-8SS 10-24 X2 1/2 100 PT 771
211036 771432  FLAT PHIL MACHINE SCREWS 18-8SS 10-24 X 3 100 PT 771
211037 771445  FLAT PHIL MACHINE SCREWS 18-8SS 10-32 X 3/8 100 PT 771
211038 771457  FLAT PHIL MACHINE SCREWS 18-8SS 10-32 X 1/2 100 PT 771
211082 771462  FLAT PHIL MACHINE SCREWS 18-8SS 10-32 X 5/8 100 PT 771
211039 771468  FLAT PHIL MACHINE SCREWS 18-8SS 10-32 X 3/4 100 PT 771
211040 771480  FLAT PHIL MACHINE SCREWS 18-8SS 10-32 X 1 100 PT 771
211041 771486  FLAT PHIL MACHINE SCREWS 18-8SS 10-32 X1 1/4 100 PT 771
211042 771492  FLAT PHIL MACHINE SCREWS 18-8SS 10-32 X1 1/2 100 PT 771
211043 771498  FLAT PHIL MACHINE SCREWS 18-8SS 10-32 X1 3/4 100 PT 771
211044 771504  FLAT PHIL MACHINE SCREWS 18-8SS 10-32 X 2 100 PT 771
211045 771510  FLAT PHIL MACHINE SCREWS 18-8SS 10-32X21/2 100 PT 771
211046 771516  FLAT PHIL MACHINE SCREWS 18-8SS 10-32 X 3 100 PT 771
211047 771731 FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 3/8 100 PT 771
211048 771576  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1/2 100 PT 771
211049 771582  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 5/8 100 PT 771
211050 771588  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 3/4 100 PT 771
211051 771600  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 100 PT 771
211052 771606  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 1/4 100 PT 771
211053 771612  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 1/2 100 PT 771
211054 771624  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 3/4 100 PT 771
211055 771630  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 2 100 PT 771
211056 771636  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 2 1/2 100 PT 771
211057 771642  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 3 100 PT 771
211058 771648  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 3 1/2 100 PT 771
211059 771654  FLAT PHIL MACHINE SCREWS 18-8SS 1/4-20 X 4 100 PT 771
211060 771682  FLAT PHIL MACHINE SCREWS 18-8SS 5/16-18 X 1/2 100 PT 771
211061 771684  FLAT PHIL MACHINE SCREWS 18-8SS 5/16-18 X 3/4 100 PT 771
211062 771690  FLAT PHIL MACHINE SCREWS 18-8SS 5/16-18 X 1 100 PT 771
211063 771696  FLAT PHIL MACHINE SCREWS 18-8SS 5/16-18 X 1 1/4 100 PT 771
211064 771702  FLAT PHIL MACHINE SCREWS 18-8SS 5/16-18 X 1 1/2 100 PT 771
211065 771708  FLAT PHIL MACHINE SCREWS 18-8SS 5/16-18 X 1 3/4 100 PT 771

“Your Complete Fastener Source”
grattanfasteners.com



STAINLESS STEEL

@ FLAT PHILLIPS MACHINE SCREWS 18-8SS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
211066 771714  FLAT PHIL MACHINE SCREWS 18-8SS 5/16-18 X 2 100 PT 771
211067 771716  FLAT PHIL MACHINE SCREWS 18-8SS 5/16-18 X 2 1/2 100 PT 771
211068 771717  FLAT PHIL MACHINE SCREWS 18-8SS 5/16-18 X 3 100 PT 771
211069 771735  FLAT PHIL MACHINE SCREWS 18-8SS 3/8-16 X 3/4 100 PT 771
211070 771736  FLAT PHIL MACHINE SCREWS 18-8SS 3/8-16 X 1 100 PT 771
211071 771737  FLAT PHIL MACHINE SCREWS 18-8SS 3/8-16 X 1 1/4 100 PT 771
211072 771738  FLAT PHIL MACHINE SCREWS 18-8SS 3/8-16 X 1 1/2 100 PT 771
211074 771740  FLAT PHIL MACHINE SCREWS 18-8SS 3/8-16 X 2 100 PT 771
211075 771741 FLAT PHIL MACHINE SCREWS 18-8SS 3/8-16 X2 1/2 100 PT 771
211076 771720  FLAT PHIL MACHINE SCREWS 18-8SS 3/8-16 X 3 100 PT 771

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



STAINLESS STEEL

PAN PHILLIPS HEAD MACHINE SCREWS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
212001 773156  PAN PHIL MACHINE SCREWS 18-8SS 4-40 X 3/16 100 PT 773
212002 773162  PAN PHIL MACHINE SCREWS 18-8SS 4-40 X 1/4 100 PT 773
212003 773180  PAN PHIL MACHINE SCREWS 18-8SS 4-40 X 3/8 100 PT 773
212004 773192  PAN PHIL MACHINE SCREWS 18-8SS 4-40 X 1/2 100 PT 773
212000 773204  PAN PHIL MACHINE SCREWS 18-8SS 4-40 X 5/8 100 PT 773
212005 773216 PAN PHIL MACHINE SCREWS 18-8SS 4-40 X 3/4 100 PT 773
212006 773228  PAN PHIL MACHINE SCREWS 18-8SS 4-40 X 1 100 PT 773
212007 773276  PAN PHIL MACHINE SCREWS 18-8SS 6-32 X 3/16 100 PT 773
212008 773282  PAN PHIL MACHINE SCREWS 18-8SS 6-32 X 1/4 100 PT 773
212009 773294  PAN PHIL MACHINE SCREWS 18-8SS 6-32 X 3/8 100 PT 773
212010 773306  PAN PHIL MACHINE SCREWS 18-8SS 6-32 X 1/2 100 PT 773
212015 773318  PAN PHIL MACHINE SCREWS 18-8SS 6-32 X 5/8 100 PT 773
212011 773324  PAN PHIL MACHINE SCREWS 18-8SS 6-32 X 3/4 100 PT 773
212012 773336  PAN PHIL MACHINE SCREWS 18-8SS 6-32 X1 100 PT 773
212013 773342  PAN PHIL MACHINE SCREWS 18-8SS 6-32X11/4 100 PT 773
212014 773354  PAN PHIL MACHINE SCREWS 18-8SS 6-32 X 11/2 100 PT 773
212016 773366  PAN PHIL MACHINE SCREWS 18-8SS 6-32 X 2 100 PT 773
212074 773378  PAN PHIL MACHINE SCREWS 18-8SS 6-32X21/2 100 PT 773
212075 773384  PAN PHIL MACHINE SCREWS 18-8SS 6-32 X3 100 PT 773
212017 773396  PAN PHIL MACHINE SCREWS 18-8SS 8-32 X 1/4 100 PT 773
212018 773408  PAN PHIL MACHINE SCREWS 18-8SS 8-32 X 3/8 100 PT 773
212019 773420  PAN PHIL MACHINE SCREWS 18-8SS 8-32 X 1/2 100 PT 773
212020 773426  PAN PHIL MACHINE SCREWS 18-8SS 8-32 X 5/8 100 PT 773
212021 773432  PAN PHIL MACHINE SCREWS 18-8SS 8-32 X 3/4 100 PT 773
212022 773444  PAN PHIL MACHINE SCREWS 18-8SS 8-32 X1 100 PT 773
212023 773450  PAN PHIL MACHINE SCREWS 18-8SS 8-32X11/4 100 PT 773
212024 773456  PAN PHIL MACHINE SCREWS 18-8SS 8-32 X 11/2 100 PT 773
212025 773462  PAN PHIL MACHINE SCREWS 18-8SS 8-32X13/4 100 PT 773
212026 773468  PAN PHIL MACHINE SCREWS 18-8SS 8-32 X2 100 PT 773
212076 773474  PAN PHIL MACHINE SCREWS 18-8SS 8-32X21/2 100 PT 773
212077 773480  PAN PHIL MACHINE SCREWS 18-8SS 8-32 X3 100 PT 773
212027 773504  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 3/8 100 PT 773
212028 773516 PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 1/2 100 PT 773
212078 773522  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 5/8 100 PT 773
212029 773528  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 3/4 100 PT 773
212030 773540  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 1 100 PT 773

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

|
L
L
l—
)
)
@
L
-
=
s
)




|
L
L
l—
0
0
@
L
-
=
s
0

v.2

STAINLESS STEEL

PAN PHILLIPS HEAD MACHINE SCREWS

PART#  paRT4# DESCRPTION siE QT GODE  GODE
212031 773546  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X1 1/4 100 PT 773
212032 773552  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 1 1/2 100 PT 773
212033 773558  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 1 3/4 100 PT 773
212034 773564  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 2 100 PT 773
212035 773570  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X2 1/2 100 PT 773
212036 773576  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 3 100 PT 773
212037 773606  PAN PHIL MACHINE SCREWS 18-8SS 10-32 X 3/8 100 PT 773
212038 773618  PAN PHIL MACHINE SCREWS 18-8SS 10-32 X 1/2 100 PT 773
212079 773624  PAN PHIL MACHINE SCREWS 18-8SS 10-32 X 5/8 100 PT 773
212039 773630  PAN PHIL MACHINE SCREWS 18-8SS 10-32 X 3/4 100 PT 773
212040 773642  PAN PHIL MACHINE SCREWS 18-8SS 10-32 X 1 100 PT 773
212041 773648  PAN PHIL MACHINE SCREWS 18-8SS 10-32 X1 1/4 100 PT 773
212042 773654  PAN PHIL MACHINE SCREWS 18-8SS 10-32 X1 1/2 100 PT 773
212043 773660  PAN PHIL MACHINE SCREWS 18-8SS 10-32 X1 3/4 100 PT 773
212044 773666  PAN PHIL MACHINE SCREWS 18-8SS 10-32 X 2 100 PT 773
212045 773678  PAN PHIL MACHINE SCREWS 18-8SS 10-32X21/2 100 PT 773
212046 773684  PAN PHIL MACHINE SCREWS 18-8SS 10-32 X 3 100 PT 773
212080 773750  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 3/8 100 PT 773
212047 773756  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1/2 100 PT 773
212048 773762  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 5/8 100 PT 773
212049 773768  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 3/4 100 PT 773
212050 773780  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 100 PT 773
212051 773786  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 1/4 100 PT 773
212052 773792  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 1/2 100 PT 773
212053 773798  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 3/4 100 PT 773
212054 773804  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 2 100 PT 773
212055 773816  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 2 1/2 100 PT 773
212056 773822  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 3 100 PT 773
212057 773828  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 3 1/2 100 PT 773
212058 773830  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 4 100 PT 773
212059 773864  PAN PHIL MACHINE SCREWS 18-8SS 5/16-18 X 1/2 100 PT 773
212060 773870  PAN PHIL MACHINE SCREWS 18-8SS 5/16-18 X 3/4 100 PT 773
212061 773876  PAN PHIL MACHINE SCREWS 18-8SS 5/16-18 X 1 100 PT 773
212062 773882  PAN PHIL MACHINE SCREWS 18-8SS 5/16-18 X 1 1/4 100 PT 773
212063 773888  PAN PHIL MACHINE SCREWS 18-8SS 5/16-18 X 1 1/2 100 PT 773
212065 773900  PAN PHIL MACHINE SCREWS 18-8SS 5/16-18 X 2 100 PT 773

“Your Complete Fastener Source”
grattanfasteners.com



STAINLESS STEEL

AR

I

PAN PHILLIPS HEAD MACHINE SCREWS

Ul

GRATIN 881 pescrupron 0 W, ey
212066 773902 PAN PHIL MACHINE SCREWS 18-8SS 5/16-18 X 2 1/2 100 PT 773
212067 773903 PAN PHIL MACHINE SCREWS 18-8SS 5/16-18 X 3 100 PT 773
212069 773908 PAN PHIL MACHINE SCREWS 18-8SS 3/8-16 X 1 100 PT 773
212070 773909 PAN PHIL MACHINE SCREWS 18-8SS 3/8-16 X 1 1/4 100 PT 773
212071 773910 PAN PHIL MACHINE SCREWS 18-8SS 3/8-16 X 1 1/2 100 PT 773
212073 773911 PAN PHIL MACHINE SCREWS 18-8SS 3/8-16 X 2 100 PT 773

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

|
L
L
l—
)
)
@
L
-
=
s
)

v.3



STAINLESS STEEL

©

T

SOCKET HEAD CAP SCREWS 18-85S

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
207004 012064 SOCKET HEAD CAP SCREWS 18-8SS 6-32 X 1/2 100 PT 012
207006 012070  SOCKET HEAD CAP SCREWS 18-8SS 6-32 X 3/4 100 PT 012
207008 012076 = SOCKET HEAD CAP SCREWS 18-8SS 8-32 X 1/2 100 PT 012
207010 012082  SOCKET HEAD CAP SCREWS 18-8SS 8-32 X 3/4 100 PT 012
207011 012088 SOCKET HEAD CAP SCREWS 18-8SS 8-32 X1 100 PT 012
207012 012093  SOCKET HEAD CAP SCREWS 18-8SS 10-24 X 1/2 100 PT 012
207014 012097  SOCKET HEAD CAP SCREWS 18-8SS 10-24 X 3/4 100 PT 012
207015 012101  SOCKET HEAD CAP SCREWS 18-8SS 10-24 X 1 100 PT 012
207016 012103  SOCKET HEAD CAP SCREWS 18-8SS 10-24 X 1 1/4 100 PT 012
207017 012105  SOCKET HEAD CAP SCREWS 18-8SS 10-24 X1 1/2 100 PT 012
207018 012109 SOCKET HEAD CAP SCREWS 18-8SS 10-32 X 1/2 100 PT 012
207020 012113  SOCKET HEAD CAP SCREWS 18-8SS 10-32 X 3/4 100 PT 012
207021 012117  SOCKET HEAD CAP SCREWS 18-8SS 10-32 X 1 100 PT 012
207022 012119  SOCKET HEAD CAP SCREWS 18-8SS 10-32 X1 1/4 100 PT 012
207023 012121  SOCKET HEAD CAP SCREWS 18-8SS 10-32 X 1 1/2 100 PT 012
207024 012141  SOCKET HEAD CAP SCREWS 18-8SS 1/4-20 X 1/2 100 PT 012
207025 012145 SOCKET HEAD CAP SCREWS 18-8SS 1/4-20 X 3/4 100 PT 012
207026 012149  SOCKET HEAD CAP SCREWS 18-8SS 1/4-20 X1 100 PT 012
207027 012151  SOCKET HEAD CAP SCREWS 18-8SS 1/4-20 X 1 1/4 100 PT 012
207028 012153  SOCKET HEAD CAP SCREWS 18-8SS 1/4-20 X 1 1/2 100 PT 012
207029 012159  SOCKET HEAD CAP SCREWS 18-8SS 1/4-20 X 2 50 PT 012
207030 012189  SOCKET HEAD CAP SCREWS 18-8SS 5/16-18 X 1/2 100 PT 012
207031 012193  SOCKET HEAD CAP SCREWS 18-8SS 5/16-18 X 3/4 100 PT 012
207032 012197  SOCKET HEAD CAP SCREWS 18-8SS 5/16-18 X 1 100 PT 012
207033 012199  SOCKET HEAD CAP SCREWS 18-8SS 5/16-18 X 1 1/4 100 PT 012
207034 012201  SOCKET HEAD CAP SCREWS 18-8SS 5/16-18 X 1 1/2 50 PT 012
207035 012205 SOCKET HEAD CAP SCREWS 18-8SS 5/16-18 X 2 50 PT 012
207036 012239  SOCKET HEAD CAP SCREWS 18-8SS 3/8-16 X 3/4 50 PT 012
207037 012243  SOCKET HEAD CAP SCREWS 18-8SS 3/8-16 X 1 50 PT 012
207038 012245  SOCKET HEAD CAP SCREWS 18-8SS 3/8-16 X 1 1/4 50 PT 012
207039 012247  SOCKET HEAD CAP SCREWS 18-8SS 3/8-16 X 1 1/2 50 PT 012
207040 012251  SOCKET HEAD CAP SCREWS 18-8SS 3/8-16 X 2 50 PT 012

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

|
L
L
l—
)
)
@
L
-
=
s
)




STAINLESS STEEL

O

BUTTON HEAD SOCKET CAP SCREWS 18-85S

PART#  paRT# DESCRIPTION sieE QT GODE  GODE

208004 202022 BUTTON SOCKET CAP SCREWS 18-8SS 6-32 X 1/4 100 PT 202

208005 702087 BUTTON SOCKET CAP SCREWS 18-8SS 6-32 X 5/16 100 PT 702

208006 202023 BUTTON SOCKET CAP SCREWS 18-8SS 6-32 X 3/8 100 PT 202

208007 202024 BUTTON SOCKET CAP SCREWS 18-8SS 6-32 X 1/2 100 PT 202

208008 202025 BUTTON SOCKET CAP SCREWS 18-8SS 6-32 X 5/8 100 PT 202

208009 202026 BUTTON SOCKET CAP SCREWS 18-8SS 6-32 X 3/4 100 PT 202

208011 702093 BUTTON SOCKET CAP SCREWS 18-8SS 6-32 X 1 100 PT 702

208012 702096 BUTTON SOCKET CAP SCREWS 18-8SS 6-32X 11/4 100 PT 702

208013 702097 BUTTON SOCKET CAP SCREWS 18-8SS 6-32 X 11/2 100 PT 702

208020 202027 BUTTON SOCKET CAP SCREWS 18-8SS 8-32 X 1/4 100 PT 202

208021 702102 BUTTON SOCKET CAP SCREWS 18-8SS 8-32 X 5/16 100 PT 702

208022 202028 BUTTON SOCKET CAP SCREWS 18-8SS 8-32 X 3/8 100 PT 202

208023 202029 BUTTON SOCKET CAP SCREWS 18-8SS 8-32 X 1/2 100 PT 202

208024 202030 BUTTON SOCKET CAP SCREWS 18-8SS 8-32 X 5/8 100 PT 202

208025 202031 BUTTON SOCKET CAP SCREWS 18-8SS 8-32 X 3/4 100 PT 202

208027 202032 BUTTON SOCKET CAP SCREWS 18-8SS 8-32 X1 100 PT 202

208028 702111 BUTTON SOCKET CAP SCREWS 18-8SS 8-32X11/4 100 PT 702

208029 702113  BUTTON SOCKET CAP SCREWS 18-8SS 8-32 X 11/2 100 PT 702

208031 702115  BUTTON SOCKET CAP SCREWS 18-8SS 8-32 X2 100 PT 702

208036 202034 BUTTON SOCKET CAP SCREWS 18-8SS 10-24 X 1/4 100 PT 202

208037 702118  BUTTON SOCKET CAP SCREWS 18-8SS 10-24 X 5/16 100 PT 702

208038 202036 BUTTON SOCKET CAP SCREWS 18-8SS 10-24 X 3/8 100 PT 202 E
208039 202038 BUTTON SOCKET CAP SCREWS 18-8SS 10-24 X 1/2 100 PT 202 E
208040 202040 BUTTON SOCKET CAP SCREWS 18-8SS 10-24 X 5/8 100 PT 202 (9))]
208041 202042 BUTTON SOCKET CAP SCREWS 18-8SS 10-24 X 3/4 100 PT 202 @
208043 202044  BUTTON SOCKET CAP SCREWS 18-8SS 10-24 X 1 100 PT 202 Z
208044 702127 BUTTON SOCKET CAP SCREWS 18-8SS 10-24 X 1 1/4 100 PT 702 E
208045 702130 BUTTON SOCKET CAP SCREWS 18-8SS 10-24 X 1172 100 PT 702 @
208047 702133 BUTTON SOCKET CAP SCREWS 18-8SS 10-24 X 2 100 PT 702

208052 202046  BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X 1/4 100 PT 202

208053 702136 BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X 5/16 100 PT 702

208054 202048 BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X 3/8 100 PT 202

208055 202050 BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X 1/2 100 PT 202

208056 202052 BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X 5/8 100 PT 202

208057 202054 BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X 3/4 100 PT 202

208058 702142  BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X 7/8 100 PT 702

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



STAINLESS STEEL

O

BUTTON HEAD SOCKET CAP SCREWS 18-85S

PART#  paRT4# DESCRPTION siE QT GODE  GODE
208059 202056 BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X 1 100 PT 202
208060 702145 BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X 1 1/4 100 PT 702
208061 702148 BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X1 1/2 100 PT 702
208062 702150 BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X1 3/4 100 PT 702
208063 702151  BUTTON SOCKET CAP SCREWS 18-8SS 10-32 X 2 100 PT 702
208070 202064 BUTTON SOCKET CAP SCREWS 18-8SS 1/4-20 X 3/8 50 PT 202
208071 202067 BUTTON SOCKET CAP SCREWS 18-8SS 1/4-20 X 1/2 50 PT 202
208072 202070 BUTTON SOCKET CAP SCREWS 18-8SS 1/4-20 X 5/8 50 PT 202
208073 202073 BUTTON SOCKET CAP SCREWS 18-8SS 1/4-20 X 3/4 50 PT 202
208074 202131  BUTTON SOCKET CAP SCREWS 18-8SS 1/4-20 X 7/8 50 PT 202
208075 202076  BUTTON SOCKET CAP SCREWS 18-8SS 1/4-20 X 1 50 PT 202
208076 702157  BUTTON SOCKET CAP SCREWS 18-8SS 1/4-20 X 1 1/4 50 PT 702
208077 702160 BUTTON SOCKET CAP SCREWS 18-8SS 1/4-20 X 1 1/2 50 PT 702
208078 702163 BUTTON SOCKET CAP SCREWS 18-8SS 1/4-20 X 1 3/4 50 PT 702
208079 702166 BUTTON SOCKET CAP SCREWS 18-8SS 1/4-20 X 2 50 PT 702
208081 702168 BUTTON SOCKET CAP SCREWS 18-8SS 1/4-20 X 2 1/2 50 PT 702
208086 702187 BUTTON SOCKET CAP SCREWS 18-8SS 5/16-18 X 3/8 50 PT 702
208087 202082 BUTTON SOCKET CAP SCREWS 18-8SS 5/16-18 X 1/2 50 PT 202
208088 202085 BUTTON SOCKET CAP SCREWS 18-8SS 5/16-18 X 5/8 50 PT 202
208089 202088 BUTTON SOCKET CAP SCREWS 18-8SS 5/16-18 X 3/4 50 PT 202
i 208091 202094 BUTTON SOCKET CAP SCREWS 18-8SS 5/16-18 X 1 50 PT 202
H 208092 702193  BUTTON SOCKET CAP SCREWS 18-8SS 5/16-18 X 1 1/4 50 PT 702
E 208093 702196 BUTTON SOCKET CAP SCREWS 18-8SS 5/16-18 X 1 1/2 50 PT 702
% 208095 702202 BUTTON SOCKET CAP SCREWS 18-8SS 5/16-18 X 2 50 PT 702
5 208097 702203 BUTTON SOCKET CAP SCREWS 18-8SS 5/16-18 X 2 1/2 50 PT 702
Z 208104 702220 BUTTON SOCKET CAP SCREWS 18-8SS 3/8-16 X 1/2 50 PT 702
|<—t 208105 702223 BUTTON SOCKET CAP SCREWS 18-8SS 3/8-16 X 5/8 50 PT 702
@ 208106 202103  BUTTON SOCKET CAP SCREWS 18-8SS 3/8-16 X 3/4 50 PT 202
208108 202109 BUTTON SOCKET CAP SCREWS 18-8SS 3/8-16 X 1 50 PT 202
208109 202112  BUTTON SOCKET CAP SCREWS 18-8SS 3/8-16 X 1 1/4 50 PT 202
208110 202114  BUTTON SOCKET CAP SCREWS 18-8SS 3/8-16 X 1 1/2 50 PT 202
208112 702232 BUTTON SOCKET CAP SCREWS 18-8SS 3/8-16 X 2 50 PT 702
208114 702233 BUTTON SOCKET CAP SCREWS 18-8SS 3/8-16 X 2 1/2 50 PT 702

“Your Complete Fastener Source”
grattanfasteners.com



STAINLESS STEEL

FLAT HEAD SOCKET CAPS 18-8SS

AAAAAAAAAAAAAAA

PART#  paRT# DESCRIPTION sieE QT GODE  GODE

209004 712314  FLAT SOCKET CAP SCREWS 18-8SS 6-32 X 1/4 100 PT 712

209005 712078  FLAT SOCKET CAP SCREWS 18-8SS 6-32 X 5/16 100 PT 712

209006 212023  FLAT SOCKET CAP SCREWS 18-8SS 6-32 X 3/8 100 PT 212

209007 212024  FLAT SOCKET CAP SCREWS 18-8SS 6-32 X 1/2 100 PT 212

209008 212025  FLAT SOCKET CAP SCREWS 18-8SS 6-32 X 5/8 100 PT 212

209009 212026  FLAT SOCKET CAP SCREWS 18-8SS 6-32 X 3/4 100 PT 212

209011 712087  FLAT SOCKET CAP SCREWS 18-8SS 6-32 X 1 100 PT 712

209012 712090  FLAT SOCKET CAP SCREWS 18-8SS 6-32X 11/4 100 PT 712

209013 712301 FLAT SOCKET CAP SCREWS 18-8SS 6-32 X 11/2 100 PT 712

209020 712094  FLAT SOCKET CAP SCREWS 18-8SS 8-32 X 1/4 100 PT 712

209021 712096  FLAT SOCKET CAP SCREWS 18-8SS 8-32 X 5/16 100 PT 712

209022 212028  FLAT SOCKET CAP SCREWS 18-8SS 8-32 X 3/8 100 PT 212

209023 212029  FLAT SOCKET CAP SCREWS 18-8SS 8-32 X 1/2 100 PT 212

209024 212030  FLAT SOCKET CAP SCREWS 18-8SS 8-32 X 5/8 100 PT 212

209025 212031 FLAT SOCKET CAP SCREWS 18-8SS 8-32 X 3/4 100 PT 212

209027 212032  FLAT SOCKET CAP SCREWS 18-8SS 8-32 X1 100 PT 212

209028 712102  FLAT SOCKET CAP SCREWS 18-8SS 8-32X11/4 100 PT 712

209029 712105  FLAT SOCKET CAP SCREWS 18-8SS 8-32 X 11/2 100 PT 712

209031 712111 FLAT SOCKET CAP SCREWS 18-8SS 8-32 X2 100 PT 712

209036 712321 FLAT SOCKET CAP SCREWS 18-8SS 10-24 X 1/4 100 PT 712

209037 712113  FLAT SOCKET CAP SCREWS 18-8SS 10-24 X 5/16 100 PT 712

209038 212037  FLAT SOCKET CAP SCREWS 18-8SS 10-24 X 3/8 100 PT 212 ﬁ
209039 212039  FLAT SOCKET CAP SCREWS 18-8SS 10-24 X 1/2 100 PT 212 E
209040 212041 FLAT SOCKET CAP SCREWS 18-8SS 10-24 X 5/8 100 PT 212 (9))]
209041 212043  FLAT SOCKET CAP SCREWS 18-8SS 10-24 X 3/4 100 PT 212 @
209043 212045  FLAT SOCKET CAP SCREWS 18-8SS 10-24 X 1 100 PT 212 Z
209044 212047  FLAT SOCKET CAP SCREWS 18-8SS 10-24 X 1 1/4 100 PT 212 E
209045 212049  FLAT SOCKET CAP SCREWS 18-8SS 10-24 X 1172 100 PT 212 @
209047 712122  FLAT SOCKET CAP SCREWS 18-8SS 10-24 X 2 100 PT 712

209052 712328  FLAT SOCKET CAP SCREWS 18-8SS 10-32 X 1/4 100 PT 712

209053 712134  FLAT SOCKET CAP SCREWS 18-8SS 10-32 X 5/16 100 PT 712

209054 212051 FLAT SOCKET CAP SCREWS 18-8SS 10-32 X 3/8 100 PT 212

209055 212053  FLAT SOCKET CAP SCREWS 18-8SS 10-32 X 1/2 100 PT 212

209056 212055  FLAT SOCKET CAP SCREWS 18-8SS 10-32 X 5/8 100 PT 212

209057 212057  FLAT SOCKET CAP SCREWS 18-8SS 10-32 X 3/4 100 PT 212

209059 212059  FLAT SOCKET CAP SCREWS 18-8SS 10-32 X 1 100 PT 212

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com Y. 1



STAINLESS STEEL

FLAT HEAD SOCKET CAPS 18-8SS

PART#  paRT4# DESCRPTION siE QT GODE  GODE
209060 212061  FLAT SOCKET CAP SCREWS 18-8SS 10-32 X1 1/4 100 PT 212
209061 212063  FLAT SOCKET CAP SCREWS 18-8SS 10-32 X1 1/2 100 PT 212
209063 712143  FLAT SOCKET CAP SCREWS 18-8SS 10-32 X 2 100 PT 712
209070 212067  FLAT SOCKET CAP SCREWS 18-8SS 1/4-20 X 3/8 50 PT 212
209071 212070  FLAT SOCKET CAP SCREWS 18-8SS 1/4-20 X 1/2 50 PT 212
209072 212073  FLAT SOCKET CAP SCREWS 18-8SS 1/4-20 X 5/8 50 PT 212
209073 212076  FLAT SOCKET CAP SCREWS 18-8SS 1/4-20 X 3/4 50 PT 212
209075 212079  FLAT SOCKET CAP SCREWS 18-8SS 1/4-20 X 1 50 PT 212
209076 212082  FLAT SOCKET CAP SCREWS 18-8SS 1/4-20 X 1 1/4 50 PT 212
209077 212083  FLAT SOCKET CAP SCREWS 18-8SS 1/4-20 X 1 1/2 50 PT 212
209079 712161  FLAT SOCKET CAP SCREWS 18-8SS 1/4-20 X 2 50 PT 712
209081 712167  FLAT SOCKET CAP SCREWS 18-8SS 1/4-20 X 2 1/2 50 PT 712
209086 712191  FLAT SOCKET CAP SCREWS 18-8SS 5/16-18 X 3/8 50 PT 712
209087 212088  FLAT SOCKET CAP SCREWS 18-8SS 5/16-18 X 1/2 50 PT 212
209088 212091  FLAT SOCKET CAP SCREWS 18-8SS 5/16-18 X 5/8 50 PT 212
209089 212094  FLAT SOCKET CAP SCREWS 18-8SS 5/16-18 X 3/4 50 PT 212
209091 212097  FLAT SOCKET CAP SCREWS 18-8SS 5/16-18 X 1 50 PT 212
209092 212100  FLAT SOCKET CAP SCREWS 18-8SS 5/16-18 X 1 1/4 50 PT 212
209093 212103  FLAT SOCKET CAP SCREWS 18-8SS 5/16-18 X 1 1/2 50 PT 212
209095 212109  FLAT SOCKET CAP SCREWS 18-8SS 5/16-18 X 2 50 PT 212
209097 712200 FLAT SOCKET CAP SCREWS 18-8SS 5/16-18 X 2 1/2 50 PT 712
E 209104 212175  FLAT SOCKET CAP SCREWS 18-8SS 3/8-16 X 1/2 50 PT 212
E 209105 712227  FLAT SOCKET CAP SCREWS 18-8SS 3/8-16 X 5/8 50 PT 712
% 209106 712158  FLAT SOCKET CAP SCREWS 18-8SS 1/4-20 X 1 3/4 50 PT 712
5 209108 212120  FLAT SOCKET CAP SCREWS 18-8SS 3/8-16 X 1 50 PT 212
Z 209109 212124  FLAT SOCKET CAP SCREWS 18-8SS 3/8-16 X 1 1/4 50 PT 212
|<—t 209110 212127  FLAT SOCKET CAP SCREWS 18-8SS 3/8-16 X 1 1/2 50 PT 212
@ 209112 212133  FLAT SOCKET CAP SCREWS 18-8SS 3/8-16 X 2 50 PT 212
209114 712233  FLAT SOCKET CAP SCREWS 18-8SS 3/8-16 X2 1/2 50 PT 712

y. 2

“Your Complete Fastener Source”
grattanfasteners.com



STAINLESS STEEL

@;- , COTTER PINS 18-8SS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
200215 244011 COTTER PINS 18-8SS 1/16 X 1/2 100 PT 244
200216 244010 COTTER PINS 18-8SS 1/16 X 3/4 100 PT 244
200217 244013 COTTER PINS 18-8SS 116 X 1 100 PT 244
200218 244014  COTTER PINS 18-8SS 1716 X 1 1/4 100 PT 244
200219 244015 COTTER PINS 18-8SS 116 X 1 1/2 100 PT 244
200240 244049 COTTER PINS 18-8SS 1/8 X 3/4 100 PT 244
200241 244050 COTTER PINS 18-8SS 1/8 X 1 100 PT 244
200242 244070 COTTER PINS 18-8SS 118 X11/2 100 PT 244
200243 244080 COTTER PINS 18-8SS 1/8 X2 100 PT 244
200244 244081 COTTER PINS 18-8SS 118 X21/2 100 PT 244
200245 244082 COTTER PINS 18-8SS 1/8 X3 100 PT 244

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



STAINLESS STEEL

U-BOLTS STAINLESS
GRATIN 881 pescrupron 0 W, ey
2314470 V2A188 STEEL U-BOLT 18-8SS 5/16-18 X 2 10 PT V2A
2311302 V2A410 STEEL U-BOLT 18-8SS 5/16-18 X 3 10 PT V2A
2311304 V2A420 STEEL U-BOLT 18-8SS 5/16-18 X 5 10 PT V2A
2311312 V2A510 STEEL U-BOLT 18-8SS 3/8-16 X 7 10 PT V2A
2311314 V2A530 STEEL U-BOLT 18-8SS 3/8-16 X 3 10 PT V2A
2314438 V2A220 STEEL U-BOLT 18-8SS 3/8-16 X 4 1/8 10 P4 V2A
2314439 V2A230 STEEL U-BOLT 18-8SS 3/8-16 X 4 5/8 10 P4 V2A
2311316 V2A550 STEEL U-BOLT 18-8SS 3/8-16 X 5 10 PT V2A
2311318 V2A570 STEEL U-BOLT 18-8SS 3/8-16 X 6 10 PT V2A

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com aa. 1



STAINLESS STEEL

EYE BOLTS W/NUTS 18-8SS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
2314299 209003 EYE BOLTS W/NUT 18-8SS 3/16-24 X 1 1/2 10 PT 209
2314301 209004 EYE BOLTS W/NUT 18-8SS 3/16-24 X 2 10 PT 209
2314303 209008 EYE BOLTS W/NUT 18-8SS 1/4-20 X 2 10 PT 209
2314305 209009 EYE BOLTS W/NUT 18-8SS 1/4-20 X 2 5/8 10 PT 209
2314307 209010 EYE BOLTS W/NUT 18-8SS 1/4-20 X 3 10 PT 209
2314309 209011 EYE BOLTS W/NUT 18-8SS 1/4-20 X 4 10 PT 209
2314311 209014 EYE BOLTS W/NUT 18-8SS 5/16-18 X 3 1/4 10 PT 209
2314312 209060 EYE BOLTS W/NUT 18-8SS 5/16-18 X 6 10 PT 209
2314313 209015  EYE BOLTS W/NUT 18-8SS 5/16-18 X 4 10 PT 209
2314314 209050 EYE BOLTS W/NUT 18-8SS 5/16-18 X 5 10 PT 209
2314315 209018 EYE BOLTS W/NUT 18-8SS 3/8-16 X 3 7/8 10 PT 209
2314316 209080 EYE BOLTS W/NUT 18-8SS 5/16-18 X 8 10 PT 209
2314317 209016  EYE BOLTS W/NUT 18-8SS 3/8-16 X 6 10 PT 209
2314319 209028 EYE BOLTS W/NUT 18-8SS 3/8-16 X 8 10 PT 209
2314322 209038 EYE BOLTS W/NUT 18-8SS 3/8-16 X 4 10 PT 209
2314323 209025 EYE BOLTS W/NUT 18-8SS 3/8-16 X 5 10 PT 209
2314327 209204 EYE BOLTS W/NUT 18-8SS 1/2-13 X 4 10 PT 209
2314328 209206 EYE BOLTS W/NUT 18-8SS 1/2-13 X6 10 PT 209
2314329 209208 EYE BOLTS W/NUT 18-8SS 1/2-13 X 8 10 PT 209
2314330 209210 EYE BOLTS W/NUT 18-8SS 1/2-13 X 10 10 PT 209
2314332 209212 EYE BOLTS W/NUT 18-8SS 1/2-13 X 12 10 PT 209

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

|
L
L
l—
)
)
@
L
-
=
s
)

ab. 1



STAINLESS STEEL

EYE LAG BOLTS 18-8SS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
2314351 W1A010 EYE LAG SCREWS 18-8SS 3/16 X 3 10 PT W1A
2314352 W1A033 EYE LAG SCREWS 18-8SS 1/4 X 3 3/4 10 PT W1A
2314354 W1A050 EYE LAG SCREWS 18-8SS 1/4 X5 10 PT W1A
2314356 W1A140 EYE LAG SCREWS 18-8SS 5/16 X 4 10 PT W1A
2314357 W1A150 EYE LAG SCREWS 18-8SS 5/16 X 5 10 PT W1A
2314358 W1A160 EYE LAG SCREWS 18-8SS 5/16 X 6 10 PT W1A
2314360 W1A245 EYE LAG SCREWS 18-8SS 3/8 X4 1/2 10 PT W1A
2314361  W1A260 EYE LAG SCREWS 18-8SS 3/8 X6 10 PT W1A
2314362 W1A280 EYE LAG SCREWS 18-8SS 3/8 X8 10 PT W1A
2314363 W1A355 EYE LAG SCREWS 18-8SS 7/16 X5 1/4 10 PT W1A
2314370 W1B001 EYE LAG SCREWS 18-8SS #0X27/8 10 PT W1B
2314371 W1B002 EYE LAG SCREWS 18-8SS #2 X 25/8 10 PT W1B
2314372 W1B004 EYE LAG SCREWS 18-8SS #4 X2 3/16 10 PT W1B
2314374  W1B008 EYE LAG SCREWS 18-8SS #8 X 15/8 10 PT W1B

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com ac. 1



STAINLESS STEEL

S-HOOKS 18-8SS

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
2314537 WO04210 S-HOOKS HEAVY OPEN 18-8SS 3/4 10 PT W04
2314538 W04220 S-HOOKS HEAVY OPEN 18-8SS 1 10 PT W04
2314539  W04230 S-HOOKS HEAVY OPEN 18-8SS 11/4 10 PT Wo4
2314540 W04240 S-HOOKS HEAVY OPEN 18-8SS 11/2 10 PT W04
2314542  W04250 S-HOOKS HEAVY OPEN 18-8SS 13/4 10 PT W04
2314544  W04260 S-HOOKS HEAVY OPEN 18-8SS 2 10 PT W04
2314546  W04270 S-HOOKS HEAVY OPEN 18-8SS 21/4 10 PT W04
2314548 W04280 S-HOOKS HEAVY OPEN 18-8SS 212 10 PT W04
2314550 W04290 S-HOOKS HEAVY OPEN 18-8SS 3 10 PT W04
2314560 WO04315 S-HOOKS LIGHT OPEN 18-8SS 3/4 10 PT W04
2314561 WO04316 S-HOOKS LIGHT OPEN 18-8SS 7/8 10 PT W04
2314562 WO04317 S-HOOKS LIGHT OPEN 18-8SS 1 10 PT W04
2314563 W04318 S-HOOKS LIGHT OPEN 18-8SS 11/4 10 PT W04
2314564  WO04319 S-HOOKS LIGHT OPEN 18-8SS 11/2 10 PT W04
2314565 W04320 S-HOOKS LIGHT OPEN 18-8SS 13/4 10 PT W04

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

ad. 1



STAINLESS STEEL

LAG CEILING HOOK LIGHT OPEN 18-85S

PART#  paRT# DESCRIPTION sieE QT GODE  GODE
2314568 W04025 LAG CEILING HOOKS 18-8SS 1/4 X4 7/16 10 PT W04
2314569  W04003 LAG CEILING HOOKS 18-8SS #3X41/8 20 PT W04
2314570  W04004 LAG CEILING HOOKS 18-8SS #4 X3 7/8 10 PT Wo4
2314571  WO04006 LAG CEILING HOOKS 18-8SS #6 X 3 3/8 10 PT W04
2314572  W04008 LAG CEILING HOOKS 18-8SS #8 X2 9/16 10 PT W04
2314573  W04010 LAG CEILING HOOKS 18-8SS #10 X2 1/16 10 PT W04
2314574 W04012 LAG CEILING HOOKS 18-8SS #12 X1 11/16 10 PT W04
2314575 < WO04014 LAG CEILING HOOKS 18-8SS #14 X 1 5/16 10 PT W04
2314599  WO04037 LAG CEILING HOOKS 18-8SS 3/8 X47/8 10 PT W04
2314600 WO04031 LAG CEILING HOOKS 18-8SS 5/16 X4 1/2 10 PT W04

|
L
L
l—
)
)
@
L
-
=
s
)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com ae. 1



